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Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Mental Ability

Section Id : 503890171

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890207

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5038905433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

E1.6A, 12.5E, M3.61, Q4.90 , ?
Options :

1. ¥ U6.4U

2. ® H6.4X

3. ®¥ M6.4G

4. ® M6.4U

Question Number : 1 Question Id : 5038905433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

fqu TTu faswedl © ¥, 907 & qwd U &) 1 B

E1.6A, 12.5E, M3.61, Q4.90 , ?
Options :

1. ¥ U6.4U

2. % H6.4X

3. % M6.4G

4. % M6.4U

Question Number : 2 Question Id : 5038905434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option whose letters, when arranged from left to right in the below series, will complete the series logically.

T K O TT_ _K_ R_
Options :

1. ¥ OOKRRRKOT

2. ¥ ORORORKOR

3. # ORKKRRKOT

4. ¥ ORKRORKOT

Question Number : 2 Question Id : 5038905434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafiie 3 2 9 ey $1 3 R S1gR o aT-8-aTt 191 o 72 sfaen 2 ST61 ) 61 9 4aefl afbe &9 A g2 & oeeh

T K O TT_ K R_
Options :

1. ¥ OOKRRRKOT

2. # ORORORKOR

3. # ORKKRRKOT
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4. ¥ ORKRORKOT

Question Number : 3 Question Id : 5038905435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is unrelated (or odd one out amongst) the given set of words.
Options :

1. ® Autopsy

2. ® Biopsy

3. ¥ Leprosy

4. ® Necropsy

Question Number : 3 Question Id : 5038905435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fasey &) A, o T T wrea) & g ¥ s (@138 3 favm ) /2
Options :

1. % =7q UHaf

2. % Sdd Bl o

3. ¥ PSR

4. % bl

Question Number : 4 Question Id : 5038905436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the words share the same relationship as that shared by the given pair of words.

Knowledge : Awareness
Options :
1. # Painting : Painter

2. % Disease : Doctor
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3. % Game : Player
4% Bacteria - disease

Question Number : 4 Question Id : 5038905436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fasred o1 999 &, Foraw wrect &1 3o # 9l Taiy g, St Taey - AU T4 e & Weal & S 71

NGRS INESEX]
Options :

1. % Ofd. g

2. % I : Faferd®
3. % Wq ; fgarst
4. Sffary] : STARY

Question Number : 5 Question Id : 5038905437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

ROME : VROF : : TURN : ?
Options :

1. ¥ XXTO

2. % YYZX

3. % RROQ

4. % DCCC

Question Number : 5 Question Id : 5038905437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafefad uea |, fou v el 7 J J6fia 3iert &1 9= &

ROME : VROF : : TURN : ?
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Options :
L% XXTO

2. % YYZX
3. % RROQ
4. % DCCC

Question Number : 6 Question Id : 5038905438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'INTESTINE' is written as "TNITSEENI'. How will ' FREQUENCY' be written as in that language?
Options :

1. ¥ ERFEUQYCN

2. # ERFUEYQCN

3. # REFEUQYNC

4. % QESEUENCT

Question Number : 6 Question Id : 5038905438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forft A8 e UTOT &, INTESTINE' &1 'TNITSEENT & &0 H foRaT STTdT g1 39 HINT H 'FREQUENCY' &1 & forar saem?
Options :

1. ¥ ERFEUQYCN

2. % ERFUEYQCN

3. % REFEUQYNC

4. % QESEUENCT

Question Number : 7 Question Id : 5038905439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 girls (G, Gy, G3, G4) and 3 boys (B, B,, B3) are to sit for a dinner such that no two boys should sit together nor two girls. If they are sitting
successively in this order, what is the position, respectively, of B2 and G3?

Options :


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

1. ¥ 3rd and 4th
2 % Ath and 5th

3. # 5th and 6th
4. % 2nd and 3rd

Question Number : 7 Question Id : 5038905439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 TSfHAT (G, Gy, G3, Gy) 3R 3 ASH (By, By, By) [ER X SUUBR & § b B3 ol & TSP 1Y 781 964 & 3R A 6 &l dafapdr| afe
98 SRI-9RI ¥ 934 g, 1 B2 3R G3 BT HHRT: R FT GRI?

Options :

1. % TR SR At

2.« YT 3R yiTrat

3. % 5gf 3R 6q

4. % IR SR AR

Question Number : 8 Question Id : 5038905440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q is the father-in-law of U's mother. P is the only brother of G. D is the father of U. D has a sister, whose mother is T. Q has only one daughter
who is R. How is G related to D?

Options :

1. ® Sister

2. ¥ Wife

3. # Sister-in-law
4. % Brother

Question Number : 8 Question Id : 5038905440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QUBHIBI IR EIP,GHIHAAHERID, UBITUAEI DB Th Tg1 ¢, SRBI A T8 QI TH ol AT g, STR 81 G, D I fvw
UhR FHIAIT 89
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Options :
_% g

=

o
% yraft/ SIS/ AT/ et
% TS

5w N

Question Number : 9 Question Id : 5038905441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
No place is peace.
Some peace is plate.

Options :

1. ¥ Some peace is plate
2. % Some plate is place
3. % All place is plates
4. ® Some place is plate

Question Number : 9 Question Id : 5038905441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fefeumuuy 8§ YT % d1¢ fawenl & IR Fsps AU T €1 3! fou T8 Sy=i &) I A1 8, Hal 81 3 Tdd at 3 et g
gid g1 1 it s ol ufgu fimR o sifore o fou T fAess & § I 1 aehavTd 39§ 38R0l HRd1 &, d18 JaeTd 9 $& H &l

HY:

IS R, XMd 51 5
PO id, @e g
Options :

I ¥ $O qid, @ 8
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2. % P W, U8
3 % mitere @ed

4, % $T WM, @ §

Question Number : 10 Question Id : 5038905442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are three statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:

All Strong are weak.
Some weak are Tigers.
All Tigers are Sharp.

Conclusions:
I. Some Strong are Sharp.
II. No Strong is Sharp.

Options :

1. # If only conclusion I follows

2. # If only conclusion II follows

3. ¥ If either conclusion I or II follows

4. % If neither conclusion I nor II follows

Question Number : 10 Question Id : 5038905442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T T U= § ofiF Hu SR 39 d1E &l (kY QU U § | 3TUeh! fa U w2 &l T AT € Hdl 1 3 Jasrd a2l I = Udlid g
gl Tt e &1 ufeu iR au SifoTe fos fau T frens! & 9 S 1 dohaiTd U ¥ SII¥RUI $HRd 6, a8 Jadd 9 $3 Ui g

DHY:

gt ge1aH, FHGR B |
FS HHOR, T g |
gt s19, AT B
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IW:_Q’FIHTH a9 &1

I P S, o el

Options :

1. # Ofe Fad fspy 1 qT 8

2. % gfe Fad fFspy 199 8

v aearda ey 1o n g g

4. % gRRIATEY [ RAT I T

Question Number : 11 Question Id : 5038905443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statements:
R>S>T;R>F>B.

Conclusions:
I.B>S
ILF<T

Options :

1. # Only I is true

2. # Only II is true

3. # Both I & II are true

4. ¥ Neither I nor I1 is true

Question Number : 11 Question Id : 5038905443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U Uy H, Y # fAfis 3rqudl & o9 ey ol ST T 81 HUT & 915 &l sy fau 7w §1 R U 599 & 3nyR R st &
3T P MR Ifed IR ®! gL

DHY:
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R>S>T;R>F>B.

[P Y:
I.B>S
ILF<T

Options :

1. % Had 19§

2. % AT NI G

3. % [3R NS T g

4. /ANMMATT NI

Question Number : 12 Question Id : 5038905444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< ¢ b

If ‘“+’ means ‘=, means ‘x’, ‘X’ means ‘-’ and ‘+’ means ‘+’, which of the following will be the value of expression.

16+-8—-4+2x4=7
Options :
1. % 16
2.9 28
3. % 32
4. % 44

Question Number : 12 Question Id : 5038905444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gig <+ BT 3 2, < BT 3 2, x> BT 3 <> 3R = T 3 <+ B, A FGIGd & F H1H-371 [Ah ey Xiolh BT |74 SR

16+8—-4+2x4=7
Options :
1. % 16
2.9 28
3. % 32
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Question Number : 13 Question Id : 5038905445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

1,2,3,5,7,9, 11, 13, (?)
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1ignored for all candidates.

Options :
1.23
2.15
3.17
4.21

Question Number : 13 Question Id : 5038905445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=i <t et 9oit H e ST [ B

1,2,3,5,7,9, 11, 13, (?)

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.

Options :
1.23
2.15
3.17
4.21
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Question Number : 14 Question Id : 5088905446 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following venn diagram and answer the question asked. How many people play either Cricket or Hockey?

Cricket Hockey
fio
(N

Football

Options :
1. % 110
2. % 115
3.¥ 125
4. % 120

Question Number : 14 Question Id : 5038905446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fau 3 orrepfa o1 sreqa= Hifor 3R e 7T HaTd HI SIaTd iford, 374 ¥ fdan @i fohdbe a1 glap! Werd 82
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Blhl

s
(22N

Options :
1. # 110
2. % 115
3.¥ 125
4. % 120

Question Number : 15 Question Id : 5038905447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Mirror, lens, spectacles
Options :

3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

l'I 7 %‘Eggaie Play

Adda

nJ

8 @&

©

4. v

Question Number : 15 Question Id : 5038905447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3MTHfa B uga ot feu 7Tu AT & e Fedt B! Jod o J quiar g

Options :

@
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Question Number : 16 Question Id : 5038905448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Geeta starts walking in the north direction and after walking some distance she took a left turn followed by a right turn. After that she took two
consecutive left turns, now she is walking in which direction?

Options :
1. ¥ South
2. ® North
3. ® East
4. ® West

Question Number : 16 Question Id : 5038905448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl SR = & Ie1 & Il § 3R $B g Ia- & 916 39 U a1t Hig fordn, 39 IWI 98 el St & | S §1G a8 AR &l
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IR S0 gt 8, 319 I8 o faxn & =t &2

Options :

1. ¢ gferor
2. % IR

3. % gd

4. % Uiy

Question Number : 17 Question Id : 5038905449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related figure from the given alternatives.

Question figures:

N DB ?

Options :
1. %
2. %
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JA=AN

Question Number : 17 Question Id : 5038905449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad uy 4, idu T fasedl @ TafRid sipfa &1 994 6|
W HF o

N[O @

Options :

@ O @

3. ¢
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Question Number : 18 Question Id : 5038905450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Question figure:

Options :
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Question Number : 18 Question Id : 5088905450 Question Type : MCQ Option Shuffling : Yes I
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIF-Tt IR HIA, T MBI B UfAET B R B2
wee HTHTd

Options :

1.¢

£
£~

3. ®

GET IT ON

Google Play

5 Question Mandatory : No Option

Question Number : 19 Question Id : 5038905451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?
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Options :
1. % 4
2.% 3
3.% 6
4.¥5
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Question Number : 19 Question Id : 5038905451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A E pfa F fpam Byer 32

Options :
1. % 4
2.% 3
3.% 6
4. 45

Question Number : 20 Question Id : 5038905452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Find the mirror image of the given image

Question figure
A

246
35
7

B
Options :

Y
9 g
Z 73

64 2
53

2. ® L4

IR N
cé&

3.

G €
9y e

Question Number : 20 Question Id : 5038905452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 Tt s fa &1 gdur ufafets I1d SifoT |
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Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 503890172
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890208
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5038905453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following languages was originally used for the composition of the National Anthem of India?
Options :

1. ® Hindi

2. ® Sanskrit

3. ¥ Bengali

4. ® Gujarati

Question Number : 21 Question Id : 5038905453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Faffad # 3 I I HINT Ja ¥0 A YRA & AE ST 1 & o SuinT &1 778 2

Options—
1. % f&d
2. ® Y&pd
3. ¢ S
4. % TORIdI

Question Number : 22 Question Id : 5038905454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not there in the Amer Fort?
Options :

1. # Diwan-e-Aam

2. % Diwan-e-Khaas

3. % Sukh Niwas

4. ¥ Roopmati Mahal

Question Number : 22 Question Id : 5038905454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrafeifed & Q P a1 3R & e & 78 &2
Options :

1. % dlaM T 3

2. % g TEN

3. % gg ™

4, ¥ EUHA A8

Question Number : 23 Question Id : 5038905455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kelucharan Mohapatra is an eminent dancer in which of the following dances?
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Options :

1. #* Bharatnatvam

2. ¥ Qdissi
3. ¥ Kathakali
4. % Kathak

Question Number : 23 Question Id : 5038905455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI HeuE fgfafad # 9 forg 771 § te wRand e 82
Options :

1. % YdITH

2. ¢ 3Nfedt

3. % HYDHl

4. % DD

Question Number : 24 Question Id : 5038905456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Prime Minsiters released the the stamp "Wheat Revolution" to appreciate the Green Revolution?
Options :

1. # Jawaharlal Nehru

2. ¥ Indira Gandhi

3. % Lal Bahadur Shastri

4. ® Narendra Modi

Question Number : 24 Question Id : 5038905456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad o 9§ fosg ner @3 A gRa Sifd &1 SR1E1 B & fog g shifdr St eewe 9kt fasar ure

Options :
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Question Number : 25 Question Id : 5038905457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organizations in India is known as the "Lender of Last Resort"?
Options :

1. #® Finance Ministry

2. ¥ Reserve Bank of India

3. % State Bank of India

4. ¥ Home Ministry

Question Number : 25 Question Id : 5038905457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR § ufafed & & 19 91 We "3ifam Iur &1 BT & ¥ & ST ST 82
Options :

1. % o Hare™

2. ¥ YR ord o

3. % YRAG W dH

4. % T[g HATHY

Question Number : 26 Question Id : 5038905458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following refrective defects of vision is also known as Short-sightedness?
Options :

1. ¥ Myopia
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2. # Hypermetropia

3_# Preshvania
o Ir

4. ® Cataract

Question Number : 26 Question Id : 5038905458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied & 9 ford =P v & srgRafRiar & A ¥ +ft ST SIrar g2
Options :

1. ¢ HrioEr

2. # ZRWHIU

3. % UgeEioan

4. % Hexa

Question Number : 27 Question Id : 5038905459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who discovered the vaccine for smallpox in 17987
Options :

1. ¥ Edward Jenner

2. # James Phipps

3. % Alexander Fleming

4. % Robert Koch

Question Number : 27 Question Id : 5038905459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1798 H T<feh o Clob bl Wil e bt 2
Options :

1. ¥ U838 W

2. % owy b
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3. % 3fclgole G
4% g i

Question Number : 28 Question Id : 5038905460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of June 2021, which of the following is the largest state in India in terms of area?
Options :

1. # Uttar Pradesh

2. % Maharashtra

3. ¥ Rajasthan

4. ® Madhya Pradesh

Question Number : 28 Question Id : 5038905460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 2021 T SUAS THBRT & SUR FEfARId & I ST o9 HRA BT Ja4 81 394 g2
Options :

1. % SWUSY

2. % HERTY
3. ¥ ISR

4. % O YT

Question Number : 29 Question Id : 5038905461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rivers originates from a glacier near Bokhar Chu in the Tibetan region?
Options :

1. # Ravi

2. % Chenab

3. ¥ Indus
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4. ¥ Brahmaputra

Question Number : 29 Question Id : 5038905461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 forg 7t &1 Igw fassdt &9 & TR g & e to R A glaT 72
Options :

1. % 7at

2. % IS

3. Ry

4, % §dglqA

Question Number : 30 Question Id : 5038905462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the Battle of Plassey was fought?
Options :

1. % 1557

2. % 1763

3. % 1773

4. ¥ 1757

Question Number : 30 Question Id : 5038905462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W &1 g fh a9 et am U
Options :

1. % 1557

2. % 1763

3. %1773

4. ¥ 1757
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Question Number : 31 Question Id : 5088905463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Harappan cities was located on Khadir Beyt in the Rann of Kutch?
Options :

1. # Kalibangan

2. ¥ Dholavira

3. % Mohenjo Daro

4. ¥ Lothal

Question Number : 31 Question Id : 5038905463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffad & ¥ SH9T gSUIBRI TR &5 & 0 H Wi Sud & BN ST 412
Options :

1. % BIAIETH

2. ¢ YIAERT

3. % TSN aRI

4. % YA

Question Number : 32 Question Id : 5038905464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Governor-General of Free India?
Options :

1. ¥ Lord Mountbatten

2. % Lord Warren Hastings

3. % C Rajgopalchari

4. ® Lord Wavell

Question Number : 32 Question Id : 5038905464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

AT HRA & YYH 7GR SR B A2
Options :

1. ¢ @18 ATdeded

2. % @8 INA gl

3. % I ST

4. % @IS 9ad

Question Number : 33 Question Id : 5038905465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hindi in Devanagari Script is the official language of India according to which article of the Indian Constitution?
Options :

1. # 354

2. % 341

3. % 313

4. ¥ 343

Question Number : 33 Question Id : 5038905465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TfIUH & 5y 3we & SHTAR "SR] oIt & Gl YRd $I qeTHTT 82
Options :

1. % 354

2. % 341

3. % 313

4. ¥ 343

Question Number : 34 Question Id : 5038905466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following articles provides that Right to Education is a Fundamental Right?

QOptions
r

1. % 17
2. ¥ 21A
3. %19
4. % 32

Question Number : 34 Question Id : 5038905466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & § &1 91 3w UaH &xdl § & fRI&m &1 ISR T Mics ISR §2
Options :

1. % 17

2. ¥ 21A

3. %19

4. % 32

Question Number : 35 Question Id : 5038905467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indians is the latest recipient of the Nobel Prize?
Options :

1. # Amartya Sen

2. ® Kailash Satyarthi

3. # V Ramakrishnan

4. ¥ Abhijit Banerjee

Question Number : 35 Question Id : 5038905467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 S 91 URA Aidd REBR &1 Fd-aH Ui g2

Options :
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Question Number : 36 Question Id : 5038905468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the novel "A passage to India"?
Options :

1. % HG Wells

2. ¥ E M Forster

3. # Pt. Jawaharlal Nehru

4. ® Bdward Gibbon

Question Number : 36 Question Id : 5038905468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T U9 ¢ 3f$a1 SUAT & oG® I 82
Options :

1. % Td. SN 9

2. ¥ 3. TH. HRER

3. % Uf$d Sargrdrd Hg%

4. % Ugde aH

Question Number : 37 Question Id : 5038905469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the first ever ICC Cricket World Cup organized?
Options :

1. # West Indies


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

2. % Australia
3 \:’#’?anlﬂnd

4. ® India

Question Number : 37 Question Id : 5038905469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tgal aR ICC fhdre fay U &1 S el foar 11 U1
Options :

1. % dX 39

2. % 3ffecfer

3. ¢ EdlS

4, % YRd

Question Number : 38 Question Id : 5038905470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the headquarters of FIFA located?
Options :

1. # Germany

2. # United Kingdom

3. ¥ Switzerland

4. % USA

Question Number : 38 Question Id : 5038905470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1T T JRTeR Hal (Ud 82

Options :

1. % ST

2. % Yefered
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3. ¢ RaeoRds
4% e

Question Number : 39 Question Id : 5038905471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organizations developed the COVID-19 vaccine Covaxin?
Options :

1. #® Pfizer

2. # Indian Medical Association

3. % Serum Institute of India

4. ¥ Bharat Biotech

Question Number : 39 Question Id : 5038905471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed @ @ forg W89 A COVID-19 3aH Covaxin B [dBRid fam g2
Options :

1. ® ThIgoR

2. % 3T Aighe TRTRH

3. % TRA T 311 gfea

4. ¢ HRd IRIcH

Question Number : 40 Question Id : 5038905472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of June 2021, who is the President of Palestine?
Options :

1. ¥ Mahmoud Abbas

2. # Mohammad Ibrahim Shtayyeh

3. # Benjamin Netanyahu


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

4. ® Reuven Rivlin

Question Number : 40 Question Id : 5038905472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 2021 % U THBRI B SR Rl & acfom wgufa o1 82

Options :
1. ¥ HgHg e
2. % HIgHE S1eH qdg
3. % SIEA Ad-Tg
4. % ¥a Rafem

Arithmetic Ability
Group Number : 3
Group Id : 50389065
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Arithmetic Ability

503890173
1

Online
Mandatory
20

20
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Section Marks : 20

iview and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890209
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5038905473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

45% of 480 + 182 =72-172 + 102
Options :

1. % 20

2. %23

3.¥ 27

4, % 32

Question Number : 41 Question Id : 5038905473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fou T i H Uy g (2) o I IR 37 ST

480 I 45% + 182 =22-172 + 102
Options :

1. % 20

2. %23

3.9 27

4. % 32

Question Number : 42 Question Id : 5038905474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Correct Marks : 1 Wrong Marks : 0.25
Find the value of a X b in the equation givien below.

2253 x 13@9 = 5413 x g§a4 x 13%b
Options :

1. %1

2. % ]

3. %2

4.9 0

Question Number : 42 Question Id : 5038905474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R fw TT G BT H 2 x b BT HAE 1A B

3[1-3} % 13(1.-‘4}= 541.-3 % 3&4 % 13S+b
Options :

1. %1

2. % ]

3. %2

4.9 (

Question Number : 43 Question Id : 5038905475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HCF of two numbers is 18 and their product is 2196. What is the LCM of these numbers?
Options :

1. % 98

2.9 122

3. % 108

4. % 112
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Question Number : 43 Question Id : 5088905475 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Geaft &1 HeaH JHIad 18 § 3R ST UHHA 2196 § | 1 TReA13f &1 agay SHIad 31 82
Options :

1. % 98

2.¥ 122

3. % 108

4.% 112

Question Number : 44 Question Id : 5038905476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the largest number that divides 102, 141, 258 and leaves the same remainder in each case.
Options :

1. % 17

2. % 26

3.¥ 39

4. % 56

Question Number : 44 Question Id : 5038905476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TSI BT 1A DIford TR 102, 141, 258 Bl fAUTIOIT B TR ATHA GHRI FHI UK Bl |
Options :

1. % 17

2. % 26

3.¥ 39

4. % 56

Question Number : 45 Question Id : 5038905477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

e

7

Find the smallest fraction of the following fractions.

Options :
85
1. % 48

135

) ® 123

23

3. % 15

812
4.« 795

GET IT ON

Google Play

Question Number : 45 Question Id : 5038905477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad fie & 9 Jed 31 fie I1d Hifs|

Options :
85
1. % 48

135

) ® 123

23
3. % 15

812
4.« 795
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Question Number : 46 Question Id : 5088905478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of 7 numbers is calculated as 59, but it is found that one number is wrongly taken as 83 instead of 27. Find the correct average.
Options :

1. % 53

2. % 56

3.9 51

4. % 57

Question Number : 46 Question Id : 5038905478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 GRS & ST D1 UM 59 & =0 § B Sl 5, Tich I8 T ST & fob Uob TBAT ! TTetelt § 27 & i 83 foran mar | 9et s
J1d BT

Options :

1. % 53

2. % 56

3.¥ 5]

4. % 57

Question Number : 47 Question Id : 5038905479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the price of a pen decreases by 12.5 percent, then Tim can buy 2 more pens for Rs. 112. What is the initial price (in Rs.) of each pen?
Options :

1. % Rs.4

2. % Rs.14

3. ¥ Rs.8

4. ® Rs.7
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Question Number : 47 Question Id : 5088905479 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

m%%Wff12.5Uﬁmﬁﬁwwa°ra1?ﬁ%,a°rﬁﬂ1123®ﬁ2&rﬁ|ﬁaﬁﬁ?{qé‘lq qHdl ¢ | TS U o1 RIS G (U H)
0

Options :

1. % 4399

2. % 14390

3.¢ 3%WY

4, % 730

Question Number : 48 Question Id : 5038905480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a town is 1500. If the number of males increases by 8 percent and that of the females by 10 percent, then the population would
increases to 1630. Find the number of females in the town.

Options :
1. % 300
2. ¥ 500
3. % 400
4. % 600

Question Number : 48 Question Id : 5038905480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP H B ST 1500 B 1 fe TR b1 T2 8 Uf=Ia SR Afganaii &t Tear & 10 Ufa=rd &t 3fs gialt ©, dl SHERedl ¢ 1630 8
STt e & Afgenst ot T F1d Hifor|

Options :

1. # 300

2. ¥ 500

3. % 400

4. % 600
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Question Number : 49 Question Id : 5088905481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sells sugar in such a way that the selling price of 950 gm is the same as the cost price of one kilogram, find his gain percent.
Options :

1. %5

2. % 50/19

3. 100/19

4. % 100/21

Question Number : 49 Question Id : 5038905481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHMER T B 39 YHR SadT & fob 950 TTH Tt 1 foreht Yed, 1 fobamm. =it & 60 Jed & RIR &, AT UfaRId J1d HifoTg |
Options :

1. %5

2. % 50/19

3. % 100/19

4. % 100/21

Question Number : 50 Question Id : 5038905482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The age of 4 persons are in the ratio of 13:21:10:25, and their average age is 69 years. Find the difference between the age of the oldest and the
youngest person.

Options :

1. % 80 years
2. % 30 years
3. # 40 years
4. ¥ 60 years
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Question Number : 50 Question Id : 5088905482 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR G B AT BT U 13:21:10:25 &, 3R 70! 3d 3T 69 T4 § | a4 I Afad 3R a4 B¢ Afad & o1d B 3T BT 3R
I1d ST

Options :

1. % g0dy
2. % 304dY
3. % 40 Y

4. ¢ 60 Y

Question Number : 51 Question Id : 5038905483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bag contains Rs.1, 50 paisa and 25 paisa coins in the ratio of 3:4:8 respectively. If total value of money in the bag is Rs.840. Find the no. of 50
paisa coins in the bag.

Options :
1. % 540
2. % 600
3.9 480
4. % 360

Question Number : 51 Question Id : 5038905483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ST H SHH: 3:4:8 F T | 1 TYT, 50 T 3R 25 T/ & Ryaeh &1 T ST H 47 BT Hof Yo 840 FYY 7, A ST H 50 T & Ryarept b
e 1 P

Options :

1. % 540

2. % 600

3. ¥ 480

4. % 360
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Question Number : 52 Question Id : 5088905484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

If at a certain rate of simple interest, the principal amount becomes Rs. 15,240 and Rs. 16,860 in 3 years and in 4.5 years respectively, then find
the rate of interest (in percent per annum).

Options :

1. # 10 percent
2. # 12 percent
3. % 9 percent
4. ® 9.6 percent

Question Number : 52 Question Id : 5038905484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TWTUR TS BT fH W &R TR TAY 3 I8 3R 4.5 a6 H HHRT: 15,240 IUY 3R 16,860 TU & AT €, A STST 1 &= J1d (Wfa=ra
faad 7 S|

Options :

1. % 10 gfa=rd

2. % 12 gfavrd

3. ¢ 9 gfa=rd

4. % 9.6 gfa=rd

Question Number : 53 Question Id : 5038905485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Initially, the distance covered by a bus in 1 hour is 40 km, but after every hour its speed is increased by 2 km/hr. Find the total distance covered
by bus in 5 hours.

Options :

1. % 220 km
2. % 250 km
3. % 240 km
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4. % 280 km

Question Number : 53 Question Id : 5038905485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URY ¥, U 99 gRT 1 °9¢ T a8 &1 T3 g3 40 forrit B, qfee Ul € g3t 71 2 formil/der 9¢ St 81 5 °9¢ H 99 gR1 a8 &1 T $d g3 91d
HIT|

Options :

1. ¢ 220 fHl
2. % 250 fdl
3. % 240 fopril
4. % 280 fopuit

Question Number : 54 Question Id : 5038905486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The boat can travel in still water at 7 kmph and the speed of stream is 3 kmph. Find the total time taken by the boat to travel upstream 60 km and
returned to the same point where it starts? (in hours).

Options :
1. % 18
2.9 21
3. %15
4. % 16

Question Number : 54 Question Id : 5038905486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R urt & =1a 7 forft uifdt g1 ot 1f & A o Favdlt § SR URT 1 1fd 3 foeft vifdl &1 81 4Ry o st fa=n & 6o et amn e &
3R 39d SRS foig TR U S H A1d gRT forn 71 $d I0g 1 g1 (el H)

Options :

1. % 18

2.9 2]
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3. % 15
4_#® 16

Question Number : 55 Question Id : 5038905487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipes A and B alone can fill an empty tank in 10 hours and 20 hours respectively. Pipe C alone can empty the full tank in 12 hours. In how many
hours pipes A, B and C together can fill the empty tank?

Options :

1. ® 12 hours
2. ® 13 hours
3. # 18 hours
4. % 15 hours

Question Number : 55 Question Id : 5038905487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TI3Y A 3R B 3fdal WIH ¢ DI U H HHRE: 10 G MR 20 B T 5| TIRY C 3fcbat 4R § ¢ DI WIeh b | 12 I I g | TS
A, B 3R C GRT TS 1Y Well & Bl U | fbam e &1 IHg T

Options :

1. % 126c

2. % 136¢

3. % 18%c

4. ¥ 1549¢

Question Number : 56 Question Id : 5038905488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rectangle having length as 21 cm and breadth as 10 cm is rotated about its longer edge as axis. Find the volume of the solid generated.
Options :

| % 7207 m cm?
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7 « 2100 T em?

3 % 2140 wem?

4. % 1025w em?

Question Number : 56 Question Id : 5038905488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T forTen! g 21 THT 3R AISTs 10 T ©, T D! aFall YTl Bl 3Hef AHHBR 318 UR FA ol ¢ | FATHd §3 o1 Sdhid &1
3T 1 HIFTT|

Options :

1. % 7207 & QAR

7« 2100 T THB
3 % 2140 © TP

4 % 10257 ¥HP

Question Number : 57 Question Id : 5038905489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radii of two cylinders A and B are in the ratio of 4:7 and the heights are in the ratio of 7:5 respectively. Find the ratio of curved surface area
of cylinder B to that of A.

Options :
1.¥ 54
2. % 49:35
3. % 6:5
4. % 35:49
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Question Number : 57 Question Id : S0B8905489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 9T A 3R B B AT HH: 4:7 F UIT | § 3R TS HHTT: 7:5 P UM A g1 9 B & dehUE &6 d BT 30T A J 1 HIFTT|
Options :

1.¥ 54

2. % 49:35

3. % 6:5

4. % 35:49

Question Number : 58 Question Id : 5038905490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart given below shows the spending of a family on various heads during a month.

@Rent ®mFood wOthers wEducation & Fuel

If the total income of the family is Rs.25,000, then the amount spent on Rent and Food together is:
Options :

1. # Rs.17,250

2. ¥ Rs.14,750
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3. % Rs.11,250
4_% Rs R 500

GET IT ON

Google Play

Question Number : 58 Question Id : 5038905490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fear a1 urs-ard ue ufvaR gR1 fafts wei wk e HelA | fohu U T ol guifar 3|

iR Waea M R Miwa

fE I URAR BT Hel 3 25,000 FU B, AN BT TUT HISH WR Pl b1 T g3 &2
Options :

1. % 17,250 304

2. ¥ 14,750 30

3. % 11,250 39Y

4. % 8500 30T

Question Number : 59 Question Id : 5038905491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The pie chart given below shows the spending of a family on various heads during a month.
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@Rent ®Food wOthers wEducation s Fuel

What is the ratio of the expenses on Education to the expenses on Food?
Options :

1.¥ 13

2. % 322

3. % 3:5

4. % 53

GET IT ON

Google Play

Question Number : 59 Question Id : 5038905491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T urs-=nd Ue uRaR gRT fafid Hel R Ue geH | fbu 71U @ & gidr g
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ST ¥aea My R Moua

R &R o8 U T &1 HieH &R o U B & A1y 3T fohe 52
Options :
1.¥ 13
2. % 32
3. % 3:5
4. % 53

GET IT ON

Google Play

Question Number : 60 Question Id : 5038905492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The graph below shows the results of a survey conducted in a city. It shows the number of families in that city having various daily incomes.
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How many families have daily income not less than Rs.2000 but less than Rs.6000?
Options :
1. ¥ 1550
2. % 1150
3. % 1250
4. % 1400

Question Number : 60 Question Id : 5038905492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fear mar T Te weR # fobu TTw Tderur o uRund bt guifdr ] 1 U8 39 WeR H faftr e o aret uRaR) &t T ot gxifar ]
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GET IT ON
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Options :
1. ¥ 1550
2. % 1150
3. % 1250
4. % 1400

General English

Group Number : 4
Group Id : 50389066
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0
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Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 503890174

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890210

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5038905493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.
If there is no error present, then select No error as answer.

Options :

1. ¥ The move came at a time when the Chinese involvement in Nepal is surging, largely on the back of Beijing’s BRI project.
2. % The leaders of the SCO countries has signed a joint declaration at the summit Kyrgyzstan’s capital Bishkek.

3. # “Countries sponsoring, aiding, and funding terrorism must be hold accountable”, he said.

4. % SCO is the largest regional organizations in the world in terms of geographical coverage and population.

Question Number : 61 Question Id : 5038905493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
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sentence is grammatically correct and sel¢ct the appropriate option.
If there is no error present, then select Noferror as answer.

Options :

1. ¥ The move came at a time when the Chinese involvement in Nepal is surging, largely on the back of Beijing’s BRI project.
2. % The leaders of the SCO countries has signed a joint declaration at the summit Kyrgyzstan’s capital Bishkek.

3. #® “Countries sponsoring, aiding, and funding terrorism must be hold accountable”, he said.

4. ® SCO is the largest regional organizations in the world in terms of geographical coverage and population.

Question Number : 62 Question Id : 5038905494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Because of the high prices first they discontinued jam on toasts and then substituted margarine for butter.
Options :

1. #® Because of the high prices

2. % first they discontinued jam on toasts

3. # and then substituted margarine for butter

4. ¥ No error

Question Number : 62 Question Id : 5038905494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Because of the high prices first they discontinued jam on toasts and then substituted margarine for butter.
Options :

1. #® Because of the high prices

2. # first they discontinued jam on toasts

3. # and then substituted margarine for butter

4. ¥ No error

Question Number : 63 Question Id : 5038905495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

Select the most appropriate option to substitute the underlined segments in the given sentence. If there is no need to substitute them, select 'No
substitution required'.

After a close-watched meeting, the Board announced its decision to accept a S-acre plot allotted by the state government.

Options :

1. # a close-watched meeting, announced its decision, 5-acres plot
2. % a closely-watched meeting, announced it's decision, 5-acres plot
3. ¥ a closely-watched meeting, announced its decision, 5-acre plot
4. ® No substitution required

Question Number : 63 Question Id : 5038905495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segments in the given sentence. If there is no need to substitute them, select No
substitution required'.

After a close-watched meeting, the Board announced its decision to accept a S-acre plot allotted by the state government.
Options :

1. #® a close-watched meeting, announced its decision, 5-acres plot
2. % a closely-watched meeting, announced it's decision, 5-acres plot
3. ¥ a closely-watched meeting, announced its decision, 5-acre plot

4. ® No substitution required

Question Number : 64 Question Id : 5038905496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no
need to substitute it, select 'No substitution required'.

A meeting of the union cabinet has been called at 11 am on Wednesday.

Options :
1. ® has being called
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2. % have been called
3 # had hPing called

4. ¥ No substitution required

Question Number : 64 Question Id : 5038905496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no
need to substitute it, select 'No substitution required'.

A meeting of the union cabinet has been called at 11 am on Wednesday.
Options :

1. # has being called

2. # have been called

3. # had being called

4. ¥ No substitution required

Question Number : 65 Question Id : 5038905497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Waving a fan for nearly 12 hours continuously, with just a break for lunch, could make arms sore.
Options :

1. ¥ anyone’s

2. ® everyone

3. # anyone

4. ® everyone’s

Question Number : 65 Question Id : 5038905497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.
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Waving a fan for nearly 12 hours continugusly, with just a break for lunch, could make afms sore.

Options :

1. ¥ anyone’s
2. ® everyone
3. # anyone

4. ® everyone’s

Question Number : 66 Question Id : 5038905498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She from the position of the station chief executive officer last year, but she is still the director.
Options :

1. ® adapted

2. ¥ resigned

3. ® agitated

4. % yielded

Question Number : 66 Question Id : 5038905498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She from the position of the station chief executive officer last year, but she is still the director.
Options :

1. ® adapted

2. ¥ resigned

3. ® agitated

4. ® yielded

Question Number : 67 Question Id : 5038905499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. So how do you really focus on being productive without killing your creativity?

Q. More than anything, it's been difficult for creative people to keep up with their creativity.

R. This lockdown has been hard on almost all employees.

S. There are ways through which you can hit your deadlines without any negative emotional, mental and physical effects of burnout.

Options :

1. ¥ PQRS
2. ¥ RQPS
3. % SRQP
4. % QRSP

Question Number : 67 Question Id : 5038905499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. So how do you really focus on being productive without killing your creativity?

Q. More than anything, it's been difficult for creative people to keep up with their creativity.

R. This lockdown has been hard on almost all employees.

S. There are ways through which you can hit your deadlines without any negative emotional, mental and physical effects of burnout.

Options :

1. ¥ PQRS
2. ¥ RQPS
3. % SRQP
4. % QRSP

Question Number : 68 Question Id : 5038905500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P Visibility was almost zero.
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Q There were blinding flashes, followed by peals of thunder.
R Suddenly without any warning, our heljcopter went into a spin and nosedived into the darkness belgw.

S Our anxiety rose 1nto fear.
Options :

1. # RPSQ

2. ¥ QPSR

3. % PQRS

4. % SPQR

Question Number : 68 Question Id : 5038905500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P Visibility was almost zero.

Q There were blinding flashes, followed by peals of thunder.

R Suddenly without any warning, our helicopter went into a spin and nosedived into the darkness below.
S Our anxiety rose into fear.

Options :

1. ¥ RPSQ
2. ¥ QPSR
3. % PQRS
4. % SPQR

Question Number : 69 Question Id : 5038905501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

INEBRIATED
Options :

1. #® Stupefied
2. ® Unsteady
3. ¥ Drunken
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4. ¥ Broken

Question Number : 69 Question Id : 5038905501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

INEBRIATED
Options :

1. #® Stupefied
2. ® Unsteady
3. ¥ Drunken
4. ® Broken

Question Number : 70 Question Id : 5038905502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

EFFEMINACY
Options :

1. # Aggressiveness
2. ¥ Manliness

3. % Boorishness

4. % Verbosity

Question Number : 70 Question Id : 5038905502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

EFFEMINACY
Options :
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1. # Aggressiveness
2 % Manliness

3. ¥ Boorishness
4. ® Verbosity

Question Number : 71 Question Id : 5038905503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word

Options :

1. # Asymphtomatic

2. ® Asymphtometic

3. ¥ Asymptomatic

4. ® Asymptomattic

Question Number : 71 Question Id : 5038905503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word

Options :

1. # Asymphtomatic

2. # Asymphtometic

3. ¥ Asymptomatic

4. ¥ Asymptomattic

Question Number : 72 Question Id : 5038905504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Forward

2. % Pharaoh
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3. % Fahrenheit
4_ % 1 iaeson

Question Number : 72 Question Id : 5038905504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ® Forward

2. ® Pharaoh

3. # Fahrenheit

4. ¥ Liaeson

Question Number : 73 Question Id : 5038905505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Kick the can down the road

Options :

1. ® A task or job that is easy to complete
2. % It never changes back or comes back
3. ¥ To avoid dealing with a problem

4. ® Hear news of something secret

Question Number : 73 Question Id : 5038905505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Kick the can down the road
Options :
1. #® A task or job that is easy to complete
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2. % It never changes back or comes bacl

Al

3 % To avoid qu]ing with a prnh]Pm

4. ® Hear news of something secret

Question Number : 74 Question Id : 5038905506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To take to one's heels
Options :

1. % To run off

2. % To show one's heels
3. # To turn around

4. ® To walk leisurely

Question Number : 74 Question Id : 5038905506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To take to one's heels
Options :

1. % To run off

2. % To show one's heels
3. # To turn around

4. % To walk leisurely

Question Number : 75 Question Id : 5038905507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.
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Study of diseases and their causes, based pn laboratory examinations

Options :

1. ¥ Pantomime
2. % Parasite
3. # Parasol
4. ¥ Pathology

Question Number : 75 Question Id : 5038905507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Study of diseases and their causes, based on laboratory examinations
Options :

1. ® Pantomime

2. % Parasite

3. # Parasol

4. ¥ Pathology

Sub-Section Number : 2
Sub-Section Id : 503890211
Question Shuffling Allowed : Yes

Question Id : 5038905508 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

In the French province of Roussillon, the widowed Countess bids farewell to her son Bertram. Bertram is going to the court of the French King
with his swaggering friend Paroles and the Lord Lafeu. Bertram leaves oblivious to the attentions of Helen, the orphan daughter of the Countess's
celebrated physician. Helen has been brought up in his mother's household and has fallen in love with Bertram.

The Countess allows Helen to go to court and try her hand at curing the King's illness. Where others have failed, she succeeds, and as a reward,
the King asks her to choose a husband from among his wards. (Who else would she choose but Bertram?) Bertram sees the alliance as beneath
him. After the marriage ceremony, he runs away and plans to join the wars in Italy with Paroles.
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He writes to Helen that he will not acknoyledge their marriage until she can prove she wears his heirlpom ring and carries his child. Helen

returns home to Roussillon, but she does not give up. Instead, she soon leaves and, disguised as a pilgrim, follows Bertram to Florence. There,
she befriends a widow and her daughter Diana. Meanwhile, Bertram has formed an obsession with Diana during his time in Italy. The soldiers
jokingly trick Paroles into proving he is a coward, while Bertram makes intentions to sleep with Diana.

Diana plots to help Helen fulfil Bertram's impossible requests for marriage. Diana insists the meeting with Bertram must be in the dark, and a
disguised Helen takes Diana's place. During the night, Bertram gives Helen his ring (thinking that she is Diana), and they conceive a child.

Sub questions

Question Number : 76 Question Id : 5038905509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line “She soon leaves and, disguised as a pilgrim” refer to—
Options :

1. #® Diana

2. % Countess

3. # Widow

4. ¥ Helen

Question Number : 77 Question Id : 5038905510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does the Countess allow Helen to go to court?
Options :

1. #® to inform the king about upcoming threat

2. ® to please king with cooking skillls

3. ¥ to try her hands to cure the illness of the king
4. ® to marry the king as she very beautiful

Question Number : 78 Question Id : 5038905511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, who has formed obsession with Diana?
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Options :

1. * Countess

2. % Paroles
3. # Lafeu
4. ¥ Bertram

Question Number : 79 Question Id : 5038905512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Oblivious™?
Options :

1. ¥ concerned

2. ® heedless

3. ® unconscious

4. % insensible

Question Number : 80 Question Id : 5038905513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

1. ® Bertram leaves oblivious to the attentions of Helen.

2. ® Helen returns home to Roussillon, but she does not give up.

3. # Diana insists the meeting with Bertram must be in the dark.

4. ¥ Paroles writes a letter to Helen that he will not acknowledge their marriage.

Question Id : 5038905508 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

In the French province of Roussillon, the widowed Countess bids farewell to her son Bertram. Bertram is going to the court of the French King
with his swaggering friend Paroles and the Lord Lafeu. Bertram leaves oblivious to the attentions of Helen, the orphan daughter of the Countess's
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celebrated physician. Helen has been broyght up in his mother's household and has fallen in love with{Bertram.

The Countess allows Helen to go to court and try her hand at curing the King's illness. Where others have failed, she succeeds, and as a reward,
the King asks her to choose a husband from among his wards. (Who else would she choose but Bertram?) Bertram sees the alliance as beneath
him. After the marriage ceremony, he runs away and plans to join the wars in Italy with Paroles.

He writes to Helen that he will not acknowledge their marriage until she can prove she wears his heirloom ring and carries his child. Helen
returns home to Roussillon, but she does not give up. Instead, she soon leaves and, disguised as a pilgrim, follows Bertram to Florence. There,
she befriends a widow and her daughter Diana. Meanwhile, Bertram has formed an obsession with Diana during his time in Italy. The soldiers
jokingly trick Paroles into proving he is a coward, while Bertram makes intentions to sleep with Diana.

Diana plots to help Helen fulfil Bertram's impossible requests for marriage. Diana insists the meeting with Bertram must be in the dark, and a
disguised Helen takes Diana's place. During the night, Bertram gives Helen his ring (thinking that she is Diana), and they conceive a child.

Sub questions

Question Number : 76 Question Id : 5038905509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line “She soon leaves and, disguised as a pilgrim” refer to—
Options :

1. # Diana

2. % Countess

3. % Widow

4. ¥ Helen

Question Number : 77 Question Id : 5038905510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does the Countess allow Helen to go to court?
Options :

1. # to inform the king about upcoming threat

2. # to please king with cooking skillls

3. ¥ to try her hands to cure the illness of the king
4. % to marry the king as she very beautiful
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Question Number : 78 Question Id : 5088905511 Question Type : MCQ Option Shuffling : Yes I§ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, who has formed obsession with Diana?
Options :

1. ¥ Countess

2. % Paroles

3. # Lafeu

4. ¥ Bertram

Question Number : 79 Question Id : 5038905512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Oblivious”?
Options :

1. ¥ concerned

2. # heedless

3. % unconscious

4. % insensible

Question Number : 80 Question Id : 5038905513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

1. # Bertram leaves oblivious to the attentions of Helen.

2. % Helen returns home to Roussillon, but she does not give up.

3. # Diana insists the meeting with Bertram must be in the dark.

4. ¥ Paroles writes a letter to Helen that he will not acknowledge their marriage.

General Hindi
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Question Number : 81 Question Id : 5038905514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
fEffed § 9 "eRIR" § o-3 T@f g2

Options :
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4. % gorAfy

Question Number : 81 Question Id : 5038905514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfifed & ¥ sRR & SR I g
Options :

1. ¢ drd fY

2. % 3rfe fY

3. % fowi dfy

4. % gur Y

Question Number : 82 Question Id : 5038905515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRed ¥ ¥ 9H 2eg &1 I94 PIfoTe-
Options :

1. % S

2. % TRd

3. % S3{HI

4. Ifd

Question Number : 82 Question Id : 5038905515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfaRad o ¥ T eg &1 99 Difo-
Options :

1. % S

2. % gRd

3. % 3HT

4.« SIfd
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Question Number : 83 Question Id : S0B8905516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=fafad 3 am-guar & SH-91 969 82
Options :

1. % HHYRY THY

2. % ggsiig JH™

3. ¥ gg quN

4. % fg 9ur™y

Question Number : 83 Question Id : 5038905516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fafad § 9 urm-guar # SH-91 969 82
Options :

1. % HHYRY FHY

2. % Sgsiiig 9H™

3. ¥ gg AN

4. % fg 9ury

Question Number : 84 Question Id : 5038905517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o ¥ -9 16 HIadTad Sl BT 3aIexvl 16l 62
Options :

1. % gfTsadr

2. % QUETU-

3. S

4. % TR
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Question Number : 84 Question Id : 5088905517 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeRad 7 @ o19-97 Weg HigarID I BT IST6R01 T8] 82
Options :

1. % g3

2. % QNITUdq

3.« ST

4, % TR

Question Number : 85 Question Id : 5038905518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ffafed & 9 araawH &1 Tafaar e HH-41 52
Options :

1. % qMGA

2. THNY

3. % gRIAT

4. ® 9+

Question Number : 85 Question Id : 5038905518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfRed & § e BT yafaar 26 HH-91 82
Options :

1. % MGd

2. THY

3. % g

4. % 94

Question Number : 86 Question Id : 5038905519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frfoad & @ gg ad=it arel 2rsg &1 T BT
Options :

1. % 3fciRad

2. % fom

3. v ATl

4. % JHIR

Question Number : 86 Question Id : 5038905519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed # 9§ 3 e+t aTd Xee BT 99 HIfoTE-
Options :

1. % 3fcifed

2. % oy

3. v gl

4. % JRIR

Question Number : 87 Question Id : 5038905520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefafed & 9 e &1 fady weg HH-a18?
Options :

1. ¢ eem

2. % faeret

3. % Big

4. % 3Id

Question Number : 87 Question Id : 5038905520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
frferiad o 9 "Ieit &1 fadiy 3o F-91 82

Options :

1. ¢ 15
2. % fage
3. % BiG
4. % 3Fd

Question Number : 88 Question Id : 5038905521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTeRIieT o foTT Uh Xeq DT Tq HIToTT-

g AT Tt ufe IRe=r | dier 8-
Options :

1. % MY

2. % 3HIbld

3. ¥ 3{AAUldbT

4. % 3UTTeH

Question Number : 88 Question Id : 5038905521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTeRieT o folt Ueh XMeq b1 I bIToTL-

g AT e ufd tRer | el gl-
Options :

1. % 3Py

2. % 3Thbld

3. ¢ S{NTUfcen

4. % 3UYTeH
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Question Number : 89 Question Id : S0B8905522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAffed O T Y a1 &1 99 BHifTL-
Options :

1. % qmH 3 BT IS ¢

2. ¢ BH HINT BT 33T I 811 A8 U
3. % YR TT6:) IR 5|

4. % STog! I AT Y B AT3M |

Question Number : 89 Question Id : 5038905522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfeiRed § ¥ Y 9T BT 90 BITTT-
Options :

1. % %M 3 BT A |

2.  §H YT BT 3T I ST 1T
3. % YSTAR T3 THR G|

4. % STeg! I AT Y B AT3M |

Question Number : 90 Question Id : 5038905523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PR & & i 21ea o1 90 SR
Options :

1. % Zqd

2. % A

3. ¥ AT

4. % RIS
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Question Number : 90 Question Id : 5088905523 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad o 9§ TAifciT Usg &1 T PHifoTe-
Options :

1. % =dd

2. % ™

3. ¢ @AM

4. % URETTD

Question Number : 91 Question Id : 5038905524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEIferRad & Y 91 & UDR b1 TG DIToIT-

YRA & YAk H 3 SioTadl & ai 38d |
Options :

1. % Yy ar

2. % HYad ar

3. % fqmiciys a1

4, ¢ WA dIH

Question Number : 91 Question Id : 5038905524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad ¥ O 91 & TSR &I I9- BIfoIL-

YR & AR H 3 SeTiad) & aiTgd & |
Options :

1. % oy ar

2. % Ygad dI

3. % fawmidsiys are
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4, ¢ A AT

Question Number : 92 Question Id : 5038905525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fear o a1 A ° T ford 9 1 IIERuT 82

TfeTT 319 Tg1 § Ial Su |
Options :

1. ¢ YIqdrg

2. % HHATH

3. % Hgard

4. % JHHATA

Question Number : 92 Question Id : 5038905525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fear man g R © 9 fh g o= &1 IeTeru 82

TfeIe 31§ T8I ¥ Iall Y|
Options :

1. & H[ddrg

2. % HHATH

3. % Hgard

4. % pHIrH

Question Number : 93 Question Id : 5038905526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=ferRad & T gerarT "did & dve 3fid AT &1 T 31 g2
Options :

1. % TS & ford TR g1
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2. % §gd gl MY IS4 A

A e N\ o
2w TITH J—ILRWh’Fﬁ'IJr‘hHLI LAT T
0 FC I LI B s B M B A e S L

4. % Tt gg 7 Us 9|

Question Number : 93 Question Id : 5038905526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfiad o 9 gererT "did &1 kg 31 AT &1 3 31 g2
Options :

1. % g & fofT TR &

2. % §gd g1 MY IS4 AT

3. ¢ R Il &1 ThaH YaT ol

4. % fodt Tg H Us 9|

Question Number : 94 Question Id : 5038905527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fRad & & fog dieifad o1 o1 ol avg &1 GERI & o | JHTW 81 ol 82
Options :

1. % figf ot 3rs ufde ao |

2. « Tiraroht &1 argt ardiell # T3 |

3. % YY T 3N AR STHIE] g TSl |

4. % §ig 78 DI Sl

Question Number : 94 Question Id : 5038905527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fafaa o 3 fog deifad o1 o o avg o1 gXRi & < & quTe 8) ST 82
Options :

1. % firl o1 <rs Ak do |

2. ¢ ToiSll 1 grel aretell | 5|
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3. % YT 3 AMHR STHTel g Dol |
4% §ig T8 bl el

Question Number : 95 Question Id : 5038905528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fou U o ¥ ford e &1 vt fpar man 82
AT - Sfia &t qrifeedl JH1aT & HRUI S |

Options :

1. # 3feufar™ fug U quifar™ fog
2. % Yuifar™ forg wd sreifarm fag
3. ¢ I fag ud quifor/™ faeg

4. % I g Ud Aores fog

Question Number : 95 Question Id : 5038905528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fou Tt | ford g o1 v foean 82
AT - Sfia Pt rfesdr HAET & BRI S |

Options :

1. % 3reufard fawg Td guifer™ forg
2. % quifaRr fore wd srefarm forg
3. ¢ gIoieh g U uifar™ fog

4. #® Il fog g I g

Sub-Section Number : 2
Sub-Section Id : 503890213
Question Shuffling Allowed : Yes

Question Id : 5038905529 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
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Question Numbers : (96 to 100)

oI TIEIi= & Y S8IdH &R U=AT & SR GIToTe-

fore =1 o gl Sfu <=1 & HedTur H SUT HeTUT, SR b SRS H UAT ey, A% & HI H U B, 3R G B! G H U1
- TfS 9990 ©, 98 4¥ SARICR SR BIdl §, 37 SR & WA 7Ra ¥ U1 FRAD SHdl HR bl 5| o BT GTHIID 3R
e I=fa & forg ARt &1 S=rHad 811 Fdid iawad & | for 3= & §1ad, g, ATRAT SR gadb 39+ I &1 Jferddl IR 3o
1l ol TETHR I WR 4, 7, U USTaR HR od ©, et S WfI<Tel 8idT 8, Ia! <X WIfaiid giar 8, 3R 34t & HIegH ¥ 98 Iad
3=Td P I STl g |

Sub questions

Question Number : 96 Question Id : 5038905530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfiRad & & Swjad TRl &1 Sfad e -9 52
Options :

1. ® R-Hiad BT

2. % CRIATRRI T GRGIG! BTl

3. % TN Ud faspresitel g

4. ¢ TR DI qgig T 3D ANTRS! o1 IRTGH |

Question Number : 97 Question Id : 5038905531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & TR, fohelt <=1 & faa=imet! 817 & o 31a=ae® ¢ fb 3¥d A
Options :

1. % w@rdff gl

2. % gfeigM 37 & it geg aaR |
3.« Wil AR B

4, % gL T

Question Number : 98 Question Id : 5038905532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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frfoiaa & @ s &1 fady 3sg 1 52

Options :

1. % I
2. % gfg
3. ¢ Udd
4. % 3y

Question Number : 99 Question Id : 5038905533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STad TR & Tee! B -7 B quiaar gel 82

Options :

gﬁmﬁmmwwmwﬁmm&mﬁwﬁﬁmwmﬂmnﬂ@mwéé%ﬂ%ﬂmmﬁ
|

2. #m%mmﬁéw,qaﬂﬁﬁaﬁvw 31U M Dt SfeTde} TR 30 Tl & IGThr I WR a1, T, 4 "ASTR HR &d &, Jol o

PUESEII |

3. % ﬁgﬁé%ﬁ STcTeh 3R Jach 31U I I Sferac! TR ST W B TGTehR I TR o, F, U 3R I TIBTR PR &l &, I8! o

HHSR |

4. % o S H 919D, g, ARAT R Jad 3T I 1 FIe1dg] TR 3O W Pl Ty 39 W -, T 3R Y9 ISTaR 5] B @, dal

X1 fFa=ITet gt g

Question Number : 100 Question Id : 5038905534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUYad eI & 3R el ex1 1 3= R e Rl
Options :

1. ¢ JYb ANRD] Bl G-Hickd TR |

2. % JYb ANRSD| BT ULHRI W

3. % ISP ANIRG] b1 W@ gfdf R

4. % JYdb ANRS] DI 371G TR|

Question Id : 5038905529 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
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Question Numbers : (96 to 100)

frfeRad eI 1 eaTyde 31erae PR U=l & SR SIforg-

fore <=1 o Al 31U <=1 & BT H U1 BTV, G¥ b YT H SUAT Y, SR b Bl H U B, 3R &= B Ixfes H ST
Y- TS YA 8, 98 GX SRICR I~1aRiel BIdT 8, 33 o=l & JH TRT Y SO AT 3l D Fhdll 5| G I GG 3R
3Mfies I=fer & e S=IaTRigt &1 SRrHad BT fHdid Sawae 7| for 321 o STeiep, g, IRAT 3R gae 37U I b ferael W 3
WIUT 1 TGP IY WR o, H, U ASTaR DR 3d 8, ae] o IfekTimel gr 2, aet 2 weifa=iid 8idT 8, 3R 3t & Aregw 4 g ad
3~1d B Il STl ol

Sub questions

Question Number : 96 Question Id : 5038905530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRed # @ Swiad T &1 3 e oF-a1 g2
Options :

1. % SR-Yfad BT LA

2. % CRIGIRAT BT GT6! Bl

3. % YIRS Ud faehrereiier ¢

4.« SR P GG T 3D ANTRD| BT ANTGH |

Question Number : 97 Question Id : 5038905531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR o SFTHR, fhdl <=1 b WfeRkimmell B ob 7T 3MTa=ge & fob I&eh AR
Options :

1. % @i gl

2. % FfeTGH & & T g TaR g

3. ¢ WA gl

4. % ERYC T

Question Number : 98 Question Id : 5038905532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

freforRad & & «angen o1 faeiid 2ed T 87
Options :
1. % A
2. % gfg
3. ¢ Od-d
4. % 3¢

Question Number : 99 Question Id : 5038905533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUa TR & T & BH-T1 HY quicar gt 82

Options :

éﬁ;%ﬁﬂ%mﬁmmwmﬁﬁmﬁwaﬁmmmwﬁﬁw IY WR I, A9 VIBTR R < &, 81 S WGt

|

m?mﬁéw,@,mﬁﬁsﬁvwmwﬁmwmwﬁﬁw I IR 7, 7, ¥ IDTaR IR & §, I8! o
!

;ﬁ@%ﬁmwaﬁ?ngmwﬁmw&mﬁwﬁﬁw I TR o, 7, & 3R O USTR PR 3 8, Tal S
|

4. % T35 2 7 9107, geg, AT 3TR Jadh 30 IS Bl dferddl TR 3T Tl bl IGThR I TR o, T 3R & <STaR -8l bR 8, ae
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Question Number : 100 Question Id : 5038905534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T F STAR bt o= B S+ iR Bt B
Options :

1. ¢ JYb ANTRDI BI GI-HiHT W

2. % IHb ANRDI BT YLTER WR|

3. % JYdb ANRD| B! W@ gid |

4. % IqP ANNRD] DI Y |
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Question Number : 101 Question Id : 5038905535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The organism that does not reproduce is-

Options :
1. ¥ Mule
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2. ® Spirogyra
3 _# F‘nngi

4. % Cockroach

Question Number : 101 Question Id : 5038905535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dg SId Sff TS -8 Rl o-

Options :

1. ¢ gk

2. % ISR

3. ¥ hdd

4, % faeaen

Question Number : 102 Question Id : 5038905536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are different branches of science. Which of the following branches of science deals with identification , nomenclature, and classification of
organisms?

Options :

1. # Ecology

2. % Environmental science
3. ¥ Taxonomy

4. % Genetics

Question Number : 102 Question Id : 5038905536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a9 &1 fafe wramd & | Fafeiad 7 § - e siig 3t ugaH, UTRHTNST 31k 3P Jiifeur & Jrafid g2
Options :

1. % gRfRufde!

2. % UYTaRoT faqH
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3. ¢ iffexul g (SR

DA N
: —
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Question Number : 103 Question Id : 5038905537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICBN makes the rules for nomenclature. Here ICBN stands for-
Options :

1. # International Code for Biological Nomenclature

2. ¥ International Code for Botanical Nomenclature

3. # International Committee of Biological nomenclature

4. ® International Committee of Botanical Nomenclature

Question Number : 103 Question Id : 5038905537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TS. T & T, (ICBN) AMHUST &t Ufthar & faw sHar 81 341, 3.a.uH. o1 quf =0 3-
Options :

1. % SSTIAA DIS BR dEAAINNID A AHADAAR

2. ¢ SERARAA B8 BR dicAIdhd AHADH AR

3. % IEAYAA HUC! P TAANIH A AHAB AR

N

4, % AN HHC B b d AHTDh AR

Question Number : 104 Question Id : 5038905538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has formalised Binomial Nomenclature.
Options :
1. ® Robert Hooke
2. % Charles Darwin

3. % Carolus Linnaeus
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4. % Mendel

Question Number : 104 Question Id : 5038905538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgug AmuSia yumed &1 ER R

Options :

Question Number : 105 Question Id : 5038905539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following is the book “Systema Naturae” associated with?
Options :

1. #® Classification of flora

2. ¥ Human body mechanism

3. # Natural selection

4. ¥ Classification of plants and animals

Question Number : 105 Question Id : 5038905539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R o gRae FHafaRad 3 § foras deftd g2
Options :

1. % gAwUfadl &1 iRl

2. % HMq WRR A

3. % YIpicid T

4. SHAR! 3R Ui BT BT
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Question Number : 106 Question Id : SD38905540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solanum tuberosum is the scientific name of
Options :

1. ¢ Potato

2. % Tomato

3. # (Cabbage

4. % Brinjal

Question Number : 106 Question Id : 5038905540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A SERIGA P ISP A B
Options :

1. ¥ 3T

2. ® THIR

3. % AT I

4. % T

Question Number : 107 Question Id : 5038905541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Families are characterised on the basis of:
1. Vegetative features of plant species
2. Reproductive feature of plant species

Options :
1. % 1 only
2. % 2 only

3. % Both 1 and
2
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4. ® Neither 1 nor 2

Question Number : 107 Question Id : 5038905541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gRaR! ot fARAyar 39 3MYR 0 gldl 8-

1. el o1 gemifrdl & arafaes faRiwdmg
2. Q1 Y UeTIfara) ot Ut fa=ivan
Options :

1. % &Had |

2. % Had 2

3. ¢ 1 3R 2 &M

4. % A1 3RA 2

Question Number : 108 Question Id : 5038905542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reproduction is a method by which one organism can produce their offspring, it can occur within members of -
Options :

1. # Family

2. ® Order

3. # Genus

4. ¥ Species

Question Number : 108 Question Id : 5038905542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O Uh U fafY § forIe gRT U Sitd 31Ut Td SUd HR Johdl 8, I8 fhad Jeri & HidR g1 Il g2

Options :

1. % 707 (GRAR)
2. % T (HH)
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3. % gy
4 # ST
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Question Number : 109 Question Id : 5038905543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

We can eat the roots of many plants. Which of the following is an example of a plant with edible roots?
Options :

1. ¥ Wheat

2. % Potato

3. # Mango

4. ¥ Sweet potato

Question Number : 109 Question Id : 5038905543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 S Ol Y TS 1 a2 PR 3 @ i @ 0 % e @ 9 gl 2
Options :

1. % g

2. % 3]

3. % 3H

4, & qaIRDG

Question Number : 110 Question Id : 5038905544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following plants, the primary root is short lived and is replaced by a large number of roots. These roots originate from the base of
the stem and constitute the fibrous root system.

Options :

1. # Gymnosperm

2. ¥ Monocotyledons
3. % Dicotyledons
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4. ® Bryophyta

Question Number : 110 Question Id : 5038905544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y TS T &b MYR T Fpetd § 3R ISR ST uireht &1 Ao w3t § | Uit Se Sreubifere gidl 8 3R 93! T § Set gRT
yRrefd &t o 2| e A e Y S o R

Options :

1. % TGS
2. ¢ Ul
3. % fgeitooEl

4. ® FATBIZCT

Question Number : 111 Question Id : 5038905545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which plant is seen growing in swampy areas with many roots coming out of the ground and growing vertically upwards?
Options :

1. ¥ Mirabilis

2. ¥ Rhizophora

3. ¥ Banyan tree

4. % Monstera

Question Number : 111 Question Id : 5038905545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T U Sacel &3 H ITaT g faws 3ar 8, o % oie o | fipad! § SR SR &t 3R Sgdl 82
Options :

1. % feRifefery

2. ¥ ASSABRI

3. % TG P11 &
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4. % HRR

Question Number : 112 Question Id : 5038905546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has authored the book “Anatomy of Seed Plants”?
Options :

1. ¢ Katherine Esau

2. % Vernon Cheadle

3. #® Ray F. Evert

4. ® Susan E. Eichhorn

Question Number : 112 Question Id : 5038905546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. ¢ HYA TuE

2. % g died

3. % YUW. TaC

4, % gUE S, 3MAH

Question Number : 113 Question Id : 5038905547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The region of the stem from where leaves are born is called-
Options :

1. ¥ Nodes

2. % Internodes

3. % Bud

4. ¥ Gemmule
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Question Number : 113 Question Id : 5038905547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T & D J YT Y gl ot I gl 82
Options :

1. ¢ [y

2. % CAIGH

3. % Pici]

4. % S

Question Number : 114 Question Id : 5038905548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following:

1. This part of the plant bears both the nodes and internodes
2. It is generally green when young, but changes colour later.

Which of the following parts has been described?
Options :

1. # Root

2. ¥ Stem

3. % Flower

4. % Bud

Question Number : 114 Question Id : 5038905548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad R foar & -
1. U P 3 HRTH TS IR NI g gld &
2. O1d g Q=G R H §IdT1 8, 76 98 U: 8 8T & 3R 1¢ & 3BT 7T 96 ol §
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fgferfad & 9 g Wit 1 gul+ fear 1ar g2

Options :
1. ¥ Sg
2.9l
3. ¥ Id
4. % Dol

Question Number : 115 Question Id : 5038905549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following:

1. When the incisions of the lamina reach up to the midrib breaking it into a number of leaflets, the leaf is called compound.
2. Phyllotaxy is the pattern of arrangement of leaves on the stem or branch.

Which of the above is incorrect?
Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2

4. ¥ Neither 1 nor 2

Question Number : 115 Question Id : 5038905549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad w faem & - _

1. 519 WINPT BT Herd el RRRT TP Ugd SR dgd YA H ¢¢ S ol U1 Uit b1 §god Ul dod &
2. U0} fa=aT9 98 &ra (Ue ) §ia ¢ ford Ul o1 a1 STail TR HafRyd 8d &

SWRIad | T &I T TTd 32
Options :

1. % &dd 1
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2. % Had 2
3 % 130y o

4. 9d1 3MRAE 2

Question Number : 116 Question Id : 5038905550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is incorrectly matched?
Options :

1. #® Calyx - outermost whorl of the flower

2. % Corolla - brightly coloured to attract insects
3. ¥ Gynoecium - Composed of stamens

4. ® Placentation - Arrangement of ovules within the ovary

Question Number : 116 Question Id : 5038905550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafifea # & HH-91 Tad gafed 82

Options :

1. % BicleRy- g &1 &SI b

2. % BRI - IS DI BN P b [T IHBIA TT D BId §
3. ¢ SIATT- GoheR & e o1

4. % SSSATY- SSRA H Sieiis & T X6+ BT hH

Question Number : 117 Question Id : 5038905551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as the ‘potato-family’?
Options :

1. ¥ Solanaceae

2. % Fabaceae
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3. # Liliaceae

4_#% Rrassicaceae

Question Number : 117 Question Id : 5038905551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 5 A fhd 3l per (URAR) HeT Sl &
Options :

1. ¢ i

2. % orol

3. % ferforgeht

4. % SRy

Question Number : 118 Question Id : 5038905552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following flowers is zygomorphic?
Options :

1. ¥ Gulmohur

2. % Mustard

3. # Datura

4. ® Chilli

Question Number : 118 Question Id : 5038905552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad o 9 &H 9 B T AN Jafid (SR ®) 52

Options :

1. ¥ TAHGR
2. % 94

3. % ST
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4. % fid

Question Number : 119 Question Id : 5038905553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pith is the anatomical part of plant, which is well developed in
Options :

1. ® Monocot root and monocot stem

2. % Monocot root and Dicot root

3. # Dicot root and monocot stem

4. ¥ Monocot root and Dicot stem

Question Number : 119 Question Id : 5038905553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forer Q18 o1 TR 3T R, S ¥ ot e A AR g B
Options :

|, % THEITE o8 3R Thetorg=! a1 &

2. % TSI 918 3R fefiorsh oig A

3. % fgdiouE o9 3R Uhetorg a1 &

4. ¢ TpsouE 98 3R fgaiorash ar #

Question Number : 120 Question Id : 5038905554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The alternation of generation in Obelia is termed as
Options :

1. ¥ Metamerism

2. % Dimorphism

3. ¥ Metagenesis

4. ¥ Metamorphosis
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Question Number : 120 Question Id : §

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

iaferar 7 Uit & Uarad ol SRR

Options :

1. ® HYIGYJdl (Metamerism)
2. % fg=UdT (Dimorphism)

3. RGO (Metagenesis)

4. ® FYIAT (Metamorphosis)
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Enable Mark as Answered Mark for R¢view and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890215
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5038905555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A gravid proglottid has-

Options :

1. # Only female organs are well developed

2. # An under-developed female reproductive unit
3. % A fully developed male reproductive unit

4. ¥ Branched uterus filled with fertilised eggs

Question Number : 121 Question Id : 5038905555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 3SYUl cgus H-

Options :

1. % Pac Afga ST Y 3] TXE PRI 8ld &

2. % Had Th AT ApRIT AR UorH IHTE &

3. % Had U YUl ® 0 ¥ faaRid 739 Ui 3618 &
4. v e 311 & R TfEa e R 8T @

Question Number : 122 Question Id : 5038905556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parasites show alternation of generation and alternation of host in its life cycle?
1. Fasciola

2. Taenia
Options :
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1. ¥ Only 1
2 W ﬂn]y')

3. ¥ Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 122 Question Id : 5038905556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&rﬁﬁﬁﬂa;;wﬁmﬁﬁﬁwﬁmwméﬂ 3R TRUIY &7 YT G aTell Woidl fFufafad # 9 o g2
1. Uiy

2. Iy

Options :

1. ¥ $ad |

2. % Had 2

3. % [ 3R 2 GHl

4. % g1 3RS 2

Question Number : 123 Question Id : 5038905557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following shows the characteristics of torsion?
Options :

1. ¥ Gastropoda

2. # Monaplacophora

3. # Cephalopoda

4. % Aplacophora

Question Number : 123 Question Id : 5038905557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁﬂmﬁﬁﬁﬁ:{ﬂﬁg (Torsion) o1 faRvarsit &1 g2riar g2

Options :
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1. v e

3. % Jhduler
4. % TUATHIBRT

Question Number : 124 Question Id : 5038905558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What term is used for nephridia which discharge their excretory products into the lumen of gut?
Options :

1. ¥ Exocrine

2. % Holocrine

3. ¥ Enteronephric

4. # Exonephric

Question Number : 124 Question Id : 5038905558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qahd & foTT fhy Xeg T TRANT T ST € SN 31U SToi- STGl DI 3fid & SaHIAH! H fAdg— BT 82
Options :

1. % gfg:gratl

2. % ot 9t

3. ¢ ST

4. % SR

Question Number : 125 Question Id : 5038905559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following animals -1. Cartilaginous fishes

2. Frogs
3. Crocodiles
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Which of the above animals’ heart auriclq consist of single chamber?

Options :

1. ¥ Only 1

2. % Only 1 and 2
3. % Only 3

4. % Only 2 and 3

GET IT ON

Google Play

Question Number : 125 Question Id : 5038905559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferad wHeR TR faaR &< -

1. iAo Tferl

2. Heh

3. HIRH=S

SR & Y 5 TR & fed & sifeic & Fad U & Hal gl g2
Options :

1.« %ad |

2. % Had 1 3R 2

3. % $Had 3

4. % PHad2 3R 3

Question Number : 126 Question Id : 5038905560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The jawless vertebrates are known as-
Options :

1. ¥ Agnatha

2. % Dipnoi

3. ® QOsteichthyes

4. ® Chondrichthynes
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Question Number : 126 Question Id : SD38905560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

WaS IAed HRBBA! ol f5g T H ST 91T &-
Options :

1.« U0y

2. % f3UIs

3. % Jffferiie

4. % HIfSHUET

Question Number : 127 Question Id : 5038905561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can create electric-fields?
Options :

1. # Dolphins

2. % Turtles

3. ¥ Torpedoes

4. ® Porpoises

Question Number : 127 Question Id : 5038905561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o 9§ o faggd-&a= a1 9abdl 52
Options :

1. % glafth

2. 8 hyu

3. ¢ TRUIST (Torpedoes)

4. % W(Porpoises)
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Question Number : 128 Question Id : 5038905562 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The breathing of blue whales occurs through-
Options :

1. # Skin

2. % Nose

3. ¥ Blowhole

4. % Gill

Question Number : 128 Question Id : 5038905562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& % [hHd GRT I U501 B 672
Options :

1. % gdl

2. % {dld

3. ¥ g

4. % TAHS

Question Number : 129 Question Id : 5038905563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many occipital condyle (s) should be there in the skull of a snake?
Options :

1. ¥ One

2. % Two

3. % Nil

4. #% Three

Question Number : 129 Question Id : 5038905563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
U bl @'CI@)[ T fhda Uy urd m@ﬂﬁ (occipital condyle) Eﬁef EIT%'Q?

Options :
1.V T®
2. % Gl

3. %8 Y
4. % dH

Question Number : 130 Question Id : 5038905564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements -
1. This type of Immunoglobulin is a type of antibody representing approximately 75% of serum antibodies in humans.
2. It is present in most abundant quantity in the blood circulation

Which type of immunoglobulin is being talked about?
Options :
1. ¥ 1gG
2. % IgD
3. % [gM
4. ® IgE

Question Number : 130 Question Id : 5038905564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfed syl R foaR ifse-

1. 39 YHR &1 UfeR&NAgf (FFANGIgfer) U YHR b1 IN-UABRS (antibody) §, S AT B AT 75% TRH IN-UAHRE &1
gfafAfia a8l

2. I8 Yo TOR H T 3Hf% [ H Aig 8idT1 &

o TR & UfaRemaNgfeH &1 &1d &1 o7 381 /2

Options :
1. ¥ 1gG
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2. % IgD
3 W IgM

4. % IgE

Question Number : 131 Question Id : 5038905565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human haemoglobin is a quaternary protein, the structure of which is described as-
Options :

1. # Dimer of two myoglobin dimers

2. ® Tetramer of identical peptide subunits

3. # Tetramer of four different subunits

4. ¥ Tetramer of two different subunits

Question Number : 131 Question Id : 5038905565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hd IqIHIRSIh ST (SHTAS) Th aguide NI 8, STt Ta-T & fovg afaw = 3 affd fasar i g2
Options :

1. % gl aEdifed fgaa &1 fgaa

2. % JOEY Iq gl BT IJ8d

3. % TR -3 ol GfAeT BT Aoy

4.« Gl 3[TI-3{CT Fd Gf-Icl &1 aged

Question Number : 132 Question Id : 5038905566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With the help of ~ diagram, production of gametes by the parents, the formation of the zygotes, the F1 and F2 plants can be understood.
Options :

1. ¥ Punnett Square

2. % Heterozygous
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3. # Test Cross
4_#% Monohvbrid Cross

Question Number : 132 Question Id : 5038905566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G D1 A I AT §RT THD(gametes) BT IATG, THAG(Zygotes) BT AL F1 3R F2 Urel &1 T 39

O o ghdl g |

Options :
1. ¢ @? PR (Punnett Square)

2. % [qYEGIS (Heterozygous)

3. % X B (Test Cross)
4. ® OQHRRIIS B (Monohybrid Cross)

Question Number : 133 Question Id : 5038905567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The factors or gene on chromosome regulating the physical expression of the characters is called
Options :

1. ¥ Genotype

2. % Phenotype

3. ¥ Allele

4. ¥ Co- dominance

Question Number : 133 Question Id : 5038905567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BN T YT $RS S IRING U I AEH0N BT 5 PR § DI EHEIGI
Options :

1. % SfiFeEy

2. % HHRRY
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3. ¢ g fddbedt
4. m _‘Eg.l;lr TTr=r\Ti

Question Number : 134 Question Id : 5038905568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following works helped to establish the relationship of a gene to control synthesis of one enzyme?
Options :

1. ¥ The work of George Beadle and Edward Tatum during 1930s on the mould Neurospora crassa

2. % The work of Bateson and Edward Tatum during 1930s on the mould Neurospora crassa

3. # The work of Morgan and Edward Tatum during 1930s on the mould Neurospora crassa

4. ® The work of Johansen and Edward Tatum during 1930s on the mould Neurospora crassa

Question Number : 134 Question Id : 5038905568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ O forg sieqgH-o1f A T TSgH & A=wul ol AR @34 o ot SiF & Jee &1 R1Ud S+ J Hag d1?
Options :

1. ¥ 1930 & IS P SR IIRT H4T & T R Si1o! sisd AR TSTS ¢ Bl B

2. % 1930 P TP b SR JRIGRT ST & Tl TR I 3R TSTS ¢cH &l HIH

3. % 1930 % G & GRM TRIURT H4T & Wid W AN 3R TSdS ¢cH BT HH

4. % 1930 % GRIP & GRI SIGMY 3R TSAS ¢eH &I HIH FRIURT vl & Jid TR

Question Number : 135 Question Id : 5038905569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the phenomena where different genes interact with each other in a way that influences the phenotype?
Options :

1. # Pleiotropy

2. # Incomplete dominance

3. ¥ Codominance
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4. ¥ Epistasis

Question Number : 135 Question Id : 5038905569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fafie ofiF T gXR & W1Y 39 a6 W dIdid B g o A&UIEY (hAerey) &l YHTAd #3d &, dl 39 U &I forg U H -1 o1l &
Options :

1. % JgUYTAd (Pleiotropy)

2. % 3quf guIfad

3. % geygHIiadm (Codominance)

4. ¥ YdddI (Epistasis)

Question Number : 136 Question Id : 5038905570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following removes the RNA primers from the lagging strand?
Options :

1. ¥ 35 exonuclease

2. % DNA ligase

3. % DNA polymerase |

4. % DNA polymerase I1I

Question Number : 136 Question Id : 5038905570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ & gt T® TSR &I gerdl 82
Options :

1. % 35 TaGRgail

2. % ST ferTal

3. ¢ ST Ui [

4. % SIUAT UQIATHRS 111
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Question Number : 137 Question Id : 538905571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Action of topoisomerase leads to change in

Options :

1. # Linking number of linear single stranded DNA

2. # Linking number of double stranded linear DNA

3. % Linking number of closed circular single stranded DNA
4. ¥ Linking number of closed circular double stranded DNA

Question Number : 137 Question Id : 5038905571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[EEIEIERS I R (topoisomerase) P febar # uRad= arar g

Options :

1. % Y@P WW C=;°rq=|11 (linear single stranded DNA) P I e (linking number)

2. % @P E‘ﬁﬁiﬁm ??f@'q (closed circular single stranded DNA) D1 ol T (linking number)

3. % §¢ MADR Thd R SITAY (closed circular single stranded DNA) D1 AIoTdh TReAT (linking number)
4. ¢ §Y MATHR ST IR SITAT (closed circular double stranded DNA) P Gl TR (linking number)

Question Number : 138 Question Id : 5038905572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Synthesis of mRNA on DNA template is:
Options :

1. ¥ Unidirectional

2. % Bidirectional

3. # Bi-directional with the help of Primer
4. ® Uni-directional with the help of primer

Question Number : 138 Question Id : 5038905572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SITE wueT (8108, ¢de) IR YERIAE®-3R.TA.U. (mRNA) FHT HIA 5:
Options :

1. ¢ UbicRi (f=mgh)

2. % fgfeRi®

3. % YT & Hag d fgleRie

4. % UIZTR @] HGG Y ThIGd

Question Number : 139 Question Id : 5038905573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the process where the microspores are formed from a pollen mother cell (PMC).
Options :
1. # Microspore tetrad
2. # Pollen grains
3. ¥ Microsporogenesis
4. ® Exine

Question Number : 139 Question Id : 5038905573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IRAT A SIRIBT (PMC) T eAsey] FHiHfd gid € | 59 ufhar o HET STl g |
Options :

1. % TSI Igud

2. % TRIATHUT

3.9 ﬁ&naﬂamﬂ? (Microsporogenesis)
4. % SIGRNA (Exine)

Question Number : 140 Question Id : 5038905574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Lactose is the substrate for which of the fpllowing enzyme ?

Options :

1. ¥ Beta-galactosidase
2. # Glucosidases

3. # Beta-glucuronidase
4. #® Galactose

Question Number : 140 Question Id : 5038905574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AN o TSITSH & 7T 31:ER (YaiiT) BT HIH P 82
Options :

1. ¢ Sieldec g e

2. % DS

3. % §icl- gPRHEeS

4. % A

Discipline3
Group Number : 8
Group Id : 50389070
Group Maximum Duration : 0
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Break time : 0
Group Marks : 20
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Question Number : 141 Question Id : 5038905575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gene is the unit of inheritance that controls a specific trait or character and may also be expressed in alternative forms known as
Options :

1. # Central Dogma

2. ¥ Alleles

3. % Phenotypes

4. ¥ Codominance

Question Number : 141 Question Id : 5038905575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AR H B 3pTs 8, Sl U [ARAY A& 1 IRA HI FHafd dct 8 3R 3 dovfeuss wai §f ot oged forar o g 8, o
& = H 1 91dT §

Options :

1. ® g gaufHar (Central Dogma)

2. ¢ i fadbedl (Alleles)

3. ® €Y UXTY (Phenotypes)
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4, ® W“—ﬂﬁ?ﬂ (Codominance)

Question Number : 142 Question Id : 5038905576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total DNA content in one complete set of chromosomes (including all the genes and other parts of DNA) is called a
Options :

1. ¥ Genome

2. % Cytoplasm

3. # Eukaryotic Genome

4. ® Prokaryote Genome

Question Number : 142 Question Id : 5038905576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TORE & T guf T (@t S iR SIeu & 3= HI 9fed) H $d SIe8 It o HEI o gl
Options :

1. ¢ S

2. % BHIRID] GH

3. % YR M

4. % QiopRAie Sy

Question Number : 143 Question Id : 5038905577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mendel proposed two general rules to consolidate his understanding of inheritance in monohybrid crosses. The law consists of which of the
following?

I. Law of Dominance

II. Law of Segregation

II1. Law of Hereditary

Options :

1. % Only 1
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2. % Both I and II
3 % RothIland I

4. % 1,11 and I1I

Question Number : 143 Question Id : 5038905577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - YhR 1Y H RN DI T TH P Holgd B o o8 &l I a9 uanfad fu | faw fFafafea 3 9 foad faer a1|?
1. gyTfaar fAaw
11. fagaeH |

111 3{TdfRre! 4Ty

Options :

1. ® Had 1
2.+ 1 3R 11 Sl
3. % [1 3R 111 ST

4, % 111 3R 111

Question Number : 144 Question Id : 5038905578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of pollen grains contain sporo—pollenin?
Options :

1. ¥ Exine

2. % Pollen cytoplasm

3. # Tapetum

4. # Intine

Question Number : 144 Question Id : 5038905578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRATHUI & DI T U H WRIGIAT 8T 82

Options :
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Question Number : 145 Question Id : 5038905579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following describes the process of Apomixis?
Options :

1. #® Production of seeds after fertilisation

2. ¥ Production of seeds without fertilisation

3. # Production of seeds as result of sexual reproduction

4. ® No production of seeds even after sexual reproduction

Question Number : 145 Question Id : 5038905579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafiRad § § B sriTeH (Tuiftifers) @ ufshar &1 quid & dr 82
Options :

1. % f%9 & §1q Sl &1 Idre

2. T RS & Sitell & IadreH

3. % Y YOI & URUITERGRY dioll &l Jcle

4. % A Toi 3 a1e i el BT Scre el g

Question Number : 146 Question Id : 5038905580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sutton united the knowledge of chromosomal segregation with Mendelian principles and called it the
Options :

1. ¥ Chromosomal theory of inheritance
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2. % Chromosomal theory of Segregatior

3% Chromosomal theorv of Hprpﬂifqry

4. ® Chromosomal theory of Behaviour

Question Number : 146 Question Id : 5038905580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e J TURE JUaHUl & I &I Hefora Rigidl & A1 SiaT 8k 39 FET|
Options :

1. ¢ A=Y BT R Rigid

2. % GYIFHUI &1 URE Rigid

3. % GRITd &1 ORE Rigid

4. % HIgR BT URE Rigid

Question Number : 147 Question Id : 5038905581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Polyembryony Means:

I. Occurrence of Single Embryo in the seed

II. No occurrence of embryo in the seed

1. Occurrence of more than one embryo in the seed

Options :

1. % Only I

2. % Only II

3. % Only 111

4. ® T and III only

Question Number : 147 Question Id : 5038905581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YOI &7 31 §:
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Options :

1. % $had |

2. % Had I

3. ¢ Had I

4. % Had | R 111

Question Number : 148 Question Id : 5038905582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of formation of megaspores from the megaspore mother cell is called-
Options :

1. ¥ Megasporogenesis

2. ¥ Megasporangium

3. # Megasporonium

4. ¥ Megasporexis

Question Number : 148 Question Id : 5038905582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARG T PIRIeHT A ARG 3 7 &) Ufeh] ) Bl el § -
Options :

1. ¢ RIS

2. % BRURTAH

3. % YIRGRIH

4. % YIRORIRAY

Question Number : 149 Question Id : 5038905583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Pollen grains are generally spherical meaguring about in diameter.

Options :

1. % 25-50 Micrometers

2. % 50-75 Micrometers

3. # 75-100 Micrometers

4. ® More than 100 Micrometers

Question Number : 149 Question Id : 5038905583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR U FIHT: TATPR 81 & et o ey &G
Options :

1. ¢ 25-50 HIghIHIC

2. % 50-75 HISHIHICY

3. % 75-100 HIZHIHIC

4. % 100 ¥ 3P AZHIHC

Question Number : 150 Question Id : 5038905584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Generative Cell of the pollen grain divides to form -
Options :

1. ¥ Two Male Gametes

2. ® Three Male Gametes

3. # Four Male Gametes

4. ® Five Male Gametes

Question Number : 150 Question Id : 5038905584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRFTHUT 1 S DIfRIehT fIHIRIT Blp ad! 8-
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Options :
Y - b=

. = X1 I\3 ™

2. % R gD
3. % IR R YGHD
4. % U R gD

Question Number : 151 Question Id : 5038905585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cells of the tapetum possess dense cytoplasm and generally have
Options :

1. # More than Four Nucleus

2. % More than Three Nucleus

3. % More than Two Nucleus

4. ¥ More than One Nucleus

Question Number : 151 Question Id : 5038905585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

cUiey &t BIwTsl H o HIRIBT S Bl § SR SMH AR W g g
Options :

1. % IR Y 3HAS b

2. % TH 9 YD g

3. % QY 3PS Hsd

4. ¥ TH W 3HADH Bad

Question Number : 152 Question Id : 5038905586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Without associating transiently with initiation-factor () and termination-factor (p), the RNA polymerase is only capable of catalysing which of
the following process?
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1. Initiation
2. Elongation

3. Termination
Options :

1. % Only 1
2. % Only 3
3.9 Only 2
4. % 12and3

Question Number : 152 Question Id : 5038905586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

m‘u%wm) 3R FHIUH-HRF (p) b W1 &0 TU I s T, RTAY TeiiRel dad Hafaiad & § food uforar &1 S3Rd & &
e ]2

1. URYH
2. difdfameor

3. g
Options :

1. % $ad |
2. % $Had 3
3. ¢ $Hdd 2
4. % 1,233

Question Number : 153 Question Id : 5038905587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human chorionic gonadotropin:

Options :

1. ¥ Begins to be produced four months after fertilization
2. # Is produced by the prostate gland

3. # Is produced by Corpus luteum
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4. ¥ Is present only if a successful fertilifation has occurred

Question Number : 153 Question Id : 5038905587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4 SRIY MASIelfth:

Options :

1. % 999 & IR A §I¢ S Y& 81§

2. % URee U gRI A gien g

3. % did fig grifAffa g @

4. ¢ Hac qHl Hiv[E i1 8 9Td U bl (8= g3 gl

Question Number : 154 Question Id : 5038905588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The testosterone producing cells of the testes are called-
Options :

1. % Sertoli cells

2. % Granulosa cells

3. # Spermatogonia

4. ¥ Leydig cells

Question Number : 154 Question Id : 5038905588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qU1 Bl SRR JATCH DITRIDBTSN DT YT oIl &
Options :

1. % Geldl HIRBTY

2. % YA DIfRIBTY

3. & IPIUST

4. ¥ AT DIRIBIY
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Question Number : 155 Question Id : SD38905589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An antrum is characteristic of follicle.
Options :

1. % Primary

2. # Secondary

3. ¥ Bone marrow

4. ¥ Graafian

Question Number : 155 Question Id : 5038905589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Blex | U ! faRivar 81
Options :

1. % Ui

2. % HeAfHH

3. % gE IR

4. ¢ {89

Question Number : 156 Question Id : 5038905590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the release of secondary oocyte from the ovary.
Options :
1. ® Oogenesis
2. ® Spermatogenesis
3. ® Fertilization
4. ¢ Ovulation

Question Number : 156 Question Id : 5038905590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e ¥ fgdias fEareH SIReT & FHfa o CIRSIGI
Options :

1. # 3fgoT

2. % BT

3. ®% e

4. ¢ USR]

Question Number : 157 Question Id : 5038905591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Oxytocin is secreted by the

Options :

1. ®# Adenohypophysis

2. ¥ Neurohypophysis

3. # Zona glomerulosa

4. % Pars intermedia

Question Number : 157 Question Id : 5038905591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EIRA_ gRIHad gl gl
Options :

1. ® Wﬁl’m (Adenohypophysis)

2. ¢ dfAdT SRUIMBRIY (Neurohypophysis)
3. # ¥ddd WX (Zona glomerulosa)

4. ® TR (Pars Intermedia)

Question Number : 158 Question Id : 5038905592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Nerve impulses are carried from the eye tp the brain by the-

Options :

1. ¢ Optic nerve

2. % Cornea

3. # Bipolar cell

4. ® Rod and cone cell

Question Number : 158 Question Id : 5038905592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CIGT SHTaTT ! fodids GIRT SiRG U HIKTSh b of ST ATl 62
Options :

1. ¢ Efee dfe

2. % JFAUYCA

3. % fqaydl DIk

4. % TS 3R UP BB

Question Number : 159 Question Id : 5038905593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cells found in the choroid plexus that secrete cerebrospinal fluid are-
Options :

1. ® Astrocytes

2. ®# Microglia

3. ¥ Ependymal cells

4. ® QOligodendrocytes

Question Number : 159 Question Id : 5038905593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTSHET 5 BT HTd B dTell IgdbUCd SIieie] | UTs S aTei! BB o
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Question Number : 160 Question Id : 5038905594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A neuron with many short dendrites and a single long axon is a-
Options :

1. ¥ Multipolar neuron

2. # Bipolar neuron

3. % Unipolar neuron

4. % Varies from region to region

Question Number : 160 Question Id : 5038905594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

| v gy dIRT

2. % fgydt AT

3. % ThYdId dRADIRIGI

4. % QY AT ARSI S
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Question Number : 161 Question Id : 5038905595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which hormone from the hypothalamus stimulates the release of FSH from the anterior pituitary?
Options :

1. ¥ GnRH

2. # Oxytocin

3. # luteinizing hormone

4. # Progesterone

Question Number : 161 Question Id : 5038905595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

HETH Y - - g S UG U UT &1 Soqor & STold HRdl 82
Options :

1. ¢ Sfl TF.3/R.Td. (GnRH)
2. % 3l

3. % eSO g™

4. % GO

Question Number : 162 Question Id : 5038905596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process that sperm undergoes in female genital tract of mammals before fertilization is called-
Options :

1. # Decapacitation

2. ¥ Capacitation

3. % Activation

4. ¥ Deactivation

Question Number : 162 Question Id : 5038905596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & ugd TaUTRET & AT SIHERT Uy H Y10 &1 UfehdT &) gl STTdl 6-
Options :

1. % 3IRIGdl

2. ¥ &HA™T

3. % Hichgul

4. % fAfspaar

Question Number : 163 Question Id : 5038905597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The process in which the three germ layets form is called-
Options :

1. ¥ Fertilization
2. # (Cleavage
3. ¥ QGastrulation

4. #% Organogenesis

Question Number : 163 Question Id : 5038905597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g8 Ufshar forgd oA 1 R 597l €, peardl 6-
Options :

1. % Ty

2. % faqer

3. TREAHT

4. % Sidif

Question Number : 164 Question Id : 5038905598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Coelom is formed from-

Options :

1. % Ectoderm

2. % Endoderm

3. ¥ Mesoderm

4. ® Cnidoblast

Question Number : 164 Question Id : 5038905598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIET &1 AT fordds gIRT 81T 82
Options :
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Question Number : 165 Question Id : 5038905599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Syphilis is caused by which of the following bacterium?
Options :

1. ¥ Treponema pallidum

2. % Leptospira interrogans

3. ® Spirochaetales

4. ® Spirochaetes

Question Number : 165 Question Id : 5038905599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iucy Fgfafad # 9 forg Sitary] & SR gidl 82
Options :

1. ¢ CUMH UfereH

. % QUSRI SNy
3. % AR

4. % WPy

Question Number : 166 Question Id : 5038905600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following phrase is used for Eichhornia Crassipes?
Options :

1. ¢ Terror of Bengal
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2. % Terror of South
3% Terror of Bombav

4. ® Terror of North

Question Number : 166 Question Id : 5038905600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & § ®1F 91 GeTarT Zaif-aT shiaey & fore vt fosan i g2
Options :

1. ¢ ST BT TP (Terror of Bengal)

2. % &0 &1 3T (Terror of South)

3. # QI BT TP (Terror of Bombay)

4. % JTR BT 3TdD (Terror of North)

Question Number : 167 Question Id : 5038905601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases was caused due to the fish contamination with mercury?
Options :

1. ¥ Minamata Disease

2. % Ttai-Itai Disease

3. # Yokkaichi asthma

4. ® Argyria

Question Number : 167 Question Id : 5038905601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URT & 1Y HBll & gOd 8- & HRUT FEfRad § F I 1 97 g3 ur
Options :

1. « HAHTT AT
2. % ITIS- 318 T
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3. % YpTgal SRYAT
4% yfiffoy

Question Number : 168 Question Id : 5038905602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parts of the human body is effected the most due to the fluoride pollution?
Options :

1. #® Liver

2. #® Eyes

3. % Pancreas

4. ¥ Teeth

Question Number : 168 Question Id : 5038905602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIRTSS UGHUT & HRUT A TRR FT FRfied & 9 i o1 YT Jad 3% guifad gidl 52

Options :

1. ® god

2. % I

3. % WRMY
4. qid

Question Number : 169 Question Id : 5038905603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best describes the Alpha Diversity?

1. The diversity of organisms sharing the same habitat or community

2. The diversity of organisms which do not share the same habitat or community

3. The diversity of organisms which has no preference for sharing the same habitat or community

Options :

1. ¥ Only 1
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2. % Only 2
3 ﬂn]y?

4. # Neither 1, nor 2, nor 3

Question Number : 169 Question Id : 5038905603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad § @ SH-91 e fAfgerdr o1 o 33T auid HdT 82

1. U B1 3TaT T GG TS B aTcd Sital o fafderdn

2. ofial &t fafaedr St U € SITaT a1 e T T8l #%d o

3. Sfial 1 fafaear o T 8 o R a1 THer &1 A1 HR- & fo1E i ST T8l §
Options :

1. ¢ 6dd |

2. % Had 2

3. % $Had 3

4. % 941,492,983

Question Number : 170 Question Id : 5038905604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods of conservation of biodiversity is used only for threatened animals and plants?
Options :

1. # In Situ conservation

2. ¥ Ex Situ conservation

3. # National parks

4. ® Biosphere Reserves

Question Number : 170 Question Id : 5038905604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wig fafaear & Treur o1 Fufafad § 9 o I 3 Sad heurd SHeR! 3R tiel & oI SuaiT ot Sirdt 82

Options :



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

1. % WM (3 Rig) TRefur

Z FER IS (1Ia e Soem
HeRR = (I o H &

!‘Q

(8]

* P19 I
# Sgred IRféd &=

>

Question Number : 171 Question Id : 5038905605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nilgiri was the first biosphere reserve of India. It was established in which year?
Options :

1. ¥ 1986

2. %1999

3. % 1988

4. % 1998

Question Number : 171 Question Id : 5038905605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfMR URd &1 uge TRIRG IR Red 411 g8 fod av wiftd fasar mar um
Options :

1. ¥ 1986

2. % 1999

3. % 1988

4. % 1998

Question Number : 172 Question Id : 5038905606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best represents the approximate temperature of Cryopreservation?
Options :

1. ¥ -130°C
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2. ¥ -196°C

A NOM
- \V AR w7

4. % _140°C

Question Number : 172 Question Id : 5038905606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ o9 1 F9a uiReur o ST daHH &1 9ed 33T UfafAfid ddl 82
Options :

1. % 130 f&3f Ay

2. ¢ 196 f&h Ay

3. % o {0 Afco™

4. % _140 f&3h Sfc’ma

Question Number : 173 Question Id : 5038905607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following term is used to categorise the species which is at the highest risk of extinction in near future?
Options :

1. # Vulnerable

2. % Rare

3. ¥ Critically endangered

4. ® Link species

Question Number : 173 Question Id : 5038905607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ g <rsg &1 TN I Tl &) arfferd e & fore faban oirar @ it e Hidwr § faqw 217 & S=iad Sifes # 2
Options :

1. % gUg

2. % gAY
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Question Number : 174 Question Id : 5038905608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can be a reason for biodiversity losses?
1. Alien species invasion
2. Co-extinctions

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 174 Question Id : 5038905608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 9 i sa-fafaear &1 aifd & HRoT8?
1. fac=it St o1 siehHuT

2. ggfaquar

Options :

1. % &Had |

2. % dhad 2

3. 1 3R 2 GHI

4. % A1, ATEI2

Question Number : 175 Question Id : 5038905609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following gases -

a. Carbon dioxide
b. Methane
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c. CFCs
d. Nitrous Oxide

GET IT ON

Google Play

Arrange these gases according to the decending order of their relative contribution to total global warming.

Options :
1. #® adcb
2. % dcba
3. ¥ abcd
4. % acbd

Question Number : 175 Question Id : 5038905609 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied Tl R fqaR &< -

a. PIE SIEIHFZS

b. WA

c. m

d. A13cY RIS S

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

qut fasyeamdt Swrdn & fore 371 7191 & WTUféres TG &l ged ol & SUR daiRd Bx |

Options :
1. #® adcb
2. % dcba
3. ¥ abcd
4. % acbd

Question Number : 176 Question Id : 5038905610 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term living fossil refers to a-

Options :

1. # Life like fossil well preserved in amber

2. # Fossil formed from a living animal

3. # Living animal which is about to be fossilized

4. ¥ Living organisms showing some very primitive characters

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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038905610 Question Type : MCQ Option Shuffling : Yes

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Sfifad Sitares 2reg 1 314 B-

Options :

1. % Toltg ST SHaTRH SN 3] de A Heoal (TaR) 7 WRidd §
2. % T Siifdd i U & Siidr=d

3. % Siifad Siq S SitaT=A g aren |

4.« SNifad Sa I $© 9gd &l 3fed @& fo@rd §

Question Number : 177 Question Id : 5038905611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one among the following is the most important factor in speciation?
Options :

1. #® Geographical isolation

2. ¥ Reproductive isolation

3. # Ethological isolation

4. ® Bcological isolation

Question Number : 177 Question Id : 5038905611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad # T S 91 USTTdie0l &1 Fek Hedqul HRb 87
Options :

1. % NI Srerma

2. ¥ UG 3AId

3. % Afd® s

4. % YIRFRIFA® Sema
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Question Number : 178 Question Id : 5038905612 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fertilization of human egg most often takes place in the
Options :

1. #® Ovary

2. # Uterus

3. ¥ Ampulla

4. ® Cervix

Question Number : 178 Question Id : 5038905612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4 38 BT 8- Ja 3 aR AT gl
Options :

1. % 3SR

2. % TYiRE

3. ¢ qfdapr

4. % Ty W

Question Number : 179 Question Id : 5038905613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is produced mainly by the Corpus luteum in the ovary following ovulation.
Options :
1. ¥ Progesterone
2. ® FSH
3. % LH
4. # hCG

Question Number : 179 Question Id : 5038905613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
T %=y ¥ fE9eR0 & a1 SRy | Uid fis gR1 Swdied foar smar g

Options :

1. ¢ TR

2. % JCHIEUDH gHH(FSH)

3. % Ui fisd (LH)

4. % TG SRIY TSI (hCG)

Question Number : 180 Question Id : 5038905614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which of the following structures is the secondary oocyte ovulated?
Options :

1. #® Corpus luteum

2. ¥ Graafian follicle

3. % Primary follicle

4. % Germinal epithelium

Question Number : 180 Question Id : 5038905614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g o @ fora T @ fgditaes sieTy) susiant giar 82
Options :

1. ® Giq fus

2. ¢ (&9 Y

3. % URM$ Y

4. % S IUDl
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Sub-Section Id : 503890218

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5038905615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Secretion of adrenaline hormone causes nervousness and irritability as an effect of which of the following?
Options :

1. #® Air Pollution

2. % Water Pollution

3. % Land Pollution

4. ¥ Noise Pollution
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Question Number : 181 Question Id : 538905615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TSHTaTS g &1 1d FAufeiRad & 9 fargds uHTd & =0 H gaRige iR fIsfsu o1 RuT &+ 82
Options :

1. ® 91g Uguul

2. % I Ugyul

3. % Y Uy

4. ¢ @ Uguul

Question Number : 182 Question Id : 5038905616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An endemic species is

Options :

1. #® One found in many different geographic areas
2. % One found naturally in just one geographic area
3. % One found only on island

4. # One that has been introduced to a new geographic area

Question Number : 182 Question Id : 5038905616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T RIS Yoflfl gl

Options :

1. % B3 CHI-3(e UM & o Ol el &

2. ¥ TS U ide T0 J Ryt tes imiferes &= uran siar g
3. % TP Had gld IR IR A1 &

4. % U o T U Yiiiferes &7 & O fopan @
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Question Number : 183 Question Id : 5038905617 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the principal health concern of Ozone depletion in the Stratosphere?
Options :

1. % Cancer and other damage to the skin

2. # Tlankovitch cycle

3. # Temperature inversions

4. ® Hadley cell

Question Number : 183 Question Id : 5038905617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Hed H SHioiH Radieur &t W & e 7ed fefdr o1 82
Options :

1. ¢ IR R T BT 3 TH A

2. % IA@IDITAT TP (Ilankovitch cycle)

3. ® dUHME b H

4. % gSa Ad

Question Number : 184 Question Id : 5038905618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the concept of Joint Forest Movement (JEM) launched in India?
Options :

1. ¥ 1980s

2. % 1990s

3. % 1960s

4. % 1970s

Question Number : 184 Question Id : 5038905618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
YRd ® Tad o s (IFM) BT SGHUIRUT S YR B TS A2

Options :

1. ¢ 1980 & GXh H
2. % 1990 & GIh H
3. % 1960 &b GRH H
4. % 1970 & q¥H H

Question Number : 185 Question Id : 5038905619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Allergy and anaphylaxis are due to-
Options :

1. ¥ IgE

2. % JgA

3. % IgG

4. ® [gM

Question Number : 185 Question Id : 5038905619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tetoll 3R coenfed fsdes SR BId 87
Options :
1. ¥ IgE
2. % JgA
3. ® IgG
4. ® [gM

Question Number : 186 Question Id : 5038905620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cells that release histamine and other vasoactive substances in response to allergens are-
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Options :

1 g Nentranhilc
s OOt OpPHTS

2. % Macrophages
3. ¥ NK cell
4. ¥ Mast cells

Question Number : 186 Question Id : 5038905620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeToll & Ufdfordn § RIS 3IR 3 g Ifohd Ugrd Bie alell pIRIb §
Options :

1. % IerRET (Neutrophils)

2. % AhIho (Macrophages)

3. % Td DIRBT (NK cell)

4. ¢ AR DIRABT (Mast cells)

Question Number : 187 Question Id : 5038905621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following secondary metabolite is a toxin?
Options :

1. # Morphine

2. ¥ Ricin

3. # Curcumin

4. ® Cartenoids

Question Number : 187 Question Id : 5038905621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o fgdiae Suraeas te eifed 82

Options :
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. % TIBT (Morphine)
T (Ricim)

!‘Q

eSSy )

Wﬁﬂq (Curcumin)
® %ﬂéFﬂQS\ﬂ (Cartenoids)

:PP’

Question Number : 188 Question Id : 5038905622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which temperature range enzymes are most functional?
Options :

1. # 10°-80°C

2. % _15°.-25°C

3.9 350_40°C

4. % 50°-60°C

Question Number : 188 Question Id : 5038905622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forer oA i 7 fvaes qed eiftres fomarsiier gid &2
Options :

1. # 10°-80°C

2. % _15°.-25°C

3.9 350_40°C

4. % 50°-60°C

Question Number : 189 Question Id : 5038905623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1838 and formulated the “cell theory.”
Options :

1. % M.J. Schleiden, Theodore Schwann
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2. % Theodore Schwann, Robert Hooke
3_# Robhert Hooke Anton Van [ eeuwenhoek

4. # Anton Van Leeuwenhoek, M.J. Schleiden

Question Number : 189 Question Id : 5038905623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1838 H 3R = "opifRrepT Rigid" ufdurfed fear

Options :

1. ¢ TH. S, @%_"L fU3NER T (M.J. Schleiden, Theodore Schwann)

2. % YR [, A& gd (Theodore Schwann, Robert Hooke)

3. % Jfac gP, U 9 dii3a-8Iudh (Robert Hooke, Anton Van Leeuwenhoek)

4, ® Qﬂ:[ di4d ?ﬂBa:l@W, uH. o, @@F[ (Anton Van Leeuwenhoek, M.J. Schleiden)

Question Number : 190 Question Id : 5038905624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Asterias and Ophiura are examples of
Options :

1. # Phylum - Arthropoda

2. # Phylum - Chordata

3. % Phylum - Echinodermata

4. % Phylum - Hemichordata

Question Number : 190 Question Id : 5038905624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRTHH (Asterias) 3R HRART (Ophiura) EaRRTARR I
Options :

1. % Tg - 3mfarsT (Phylum - Arthropoda)

2. % TY . HIacl (Phylum - Chordata)
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3. ¢ TY - THIZAIGHET (Phylum - Echinpdermata)
| 4 % 3 YIfeTed (Phylum Hemichordata)

Question Number : 191 Question Id : 5038905625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ecological Pyramids can determine

Options :

1. ¥ The energy and biomass relationship between the organisms at different tropic levels
2. # The level at which different organisms stand in the food chain

3. % The energy which the different organism show in the different atmosphere

4. ® The life cycle of an organism

Question Number : 191 Question Id : 5038905625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

giRfRufde fuRifers fAYiRd B g B

Options :

1. ¢ fafter YT TRl W Sfdl & ste Sl SR TR ey

2. % T ogar § faftd Sl S TR W @S gid 8

3. % g8 Bl ol 1Ha-Fet Sitg -y arararon o vefkiq &vd ©
4. % TP Siq DI Slid dsh

Question Number : 192 Question Id : 5038905626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect regarding Bt Cotton?
I. Bt stands for Bacillus thuringiensis
II. The strains contain crystals which contain a toxic insecticidal protein

Options :
1. % Only I
2. % Only II
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3. % BothIand II
4_%" Neither Lnor 11

Question Number : 192 Question Id : 5038905626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 (BY) Bled & gy # Fafafad § Q o9 91 Y9 Ted 82
. Bt &1 Hdad S¥ay YAy §

1. IUNGT & 39 Xa1 H fawTa BieTIS UIEH gidi |
Options :

1. % ohad [

2. % had II

3. % 13RI EH

4. FNIIRAE

Question Number : 193 Question Id : 5038905627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the founder of the ‘Madras school’ of conformational analysis of biopolymers?
Options :

1. ¥ H. G. Khorana

2. # Anna Mani

3. % S. S. Bhatnagar

4. ¥ G. N. Ramachandran

Question Number : 193 Question Id : 5038905627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TG d 31 HHHA TR 3T STAAIY & RIS DI A2
Options :

1. % T, Sfl. QAT

2. % 3ol AT
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3. % TYH. TY. AR

4 o= T g
4. % VI Q7 XTI Y97

Question Number : 194 Question Id : 5038905628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a choromosome there is a specific DNA sequence which is responsible for initiating replicaton. What is it called?
Options :

1. # Plasmid

2. ¥ Origin of replication

3. % Promotor

4. % Qperator

Question Number : 194 Question Id : 5038905628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 701 G  Uep ARy e 3rgspH 81a @ it ufdepfor & forg StRerf 2, 38 o1 dgd 82
Options :

1. % WIS

2. ¢ AP dg- &1 I

3. % UHIY

4. % SRR

Question Number : 195 Question Id : 5038905629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the options and determine which of the following is not component of yeast artificial chromosome?
Options :

1. # Centromere

2. #% Telomere

3. % Origin of replication
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4. ¥ COS site

Question Number : 195 Question Id : 5038905629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fadmedl IR foaR &3 3R Fuiia & for FafaRed o @ o Wk $H30 0RE &1 gcs 781 82
Options :

1. % YR (Centromere)

2. % AN (Telomere)

3. % Ufdpfd @ @R (Origin of replication)

4. + HI3TY FIZT (COS site)

Question Number : 196 Question Id : 5038905630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who discovered Restriction endonuclease enzymes?
Options :

1. % Smith and Nathans

2. % Baiger

3. ¥ Waxman

4. # Fleming

Question Number : 196 Question Id : 5038905630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR TEgfaRS TolgH B @il o &b o
Options :

1. v 87 3R i

2. % R

3. % qaqEd

4. % GRIET
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Question Number : 197 Question Id : SD38905631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which cells are most affected by AIDS?
Options :

1. ¥ B-cells

2. ¥ T-cells

3. % Monocytes

4. # Neutrophils

Question Number : 197 Question Id : 5038905631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS H 570 q B I gad it gHifad it 82
Options :

1. % S-DIRBIY

2. ¢ S-BIRBIY

3. % QHNECY

4. % gelfthd

Question Number : 198 Question Id : 5038905632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mendel would have explained the Law of independent assortment, if was known at his time.

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Linkage

2. Recombination

3. Autosomes
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4. Heterogamete

Question Number : 198 Question Id : 5038905632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hed A W qiffpRu & gH B e Sl g, TG 34 FHY H 1 BidT|
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. dedddl

Question Number : 199 Question Id : 5038905633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which part connects foetus to placenta?
Options :

1. ¥ Umbilical cord

2. ¥ Amnion

3. % Chorion

4. ® Yolk sac

Question Number : 199 Question Id : 5038905633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T YT Y07 ) ATl F SS T@ll 22
Options :

1. M|
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2. % YUTERUT
3% migy

4. % i it

Question Number : 200 Question Id : 5038905634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are organisms that completely lack a cell wall and are the smallest living cells known and can survive without oxygen?
Options :

1. # Eubacteria

2. % Cyanobacteria

3. # Heterocysts

4. ¥ Mycoplasma

Question Number : 200 Question Id : 5038905634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁ@ﬁ@@%%wwmﬁmmﬁ%ﬁmmmmﬁﬁ&m@m%mﬁﬂﬁawﬂaﬁﬂ
9

Options :

1. % geaiiar

2. % T ST

3. % gRIRRE

4. HISPHITATGH
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Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 5038905635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A protozoan reproduces by binary fission. What will be the number of protozoans in its population after eight generations?
Options :

1. % 128

2. % 32

3. % 64

4. ¥ 256

Question Number : 201 Question Id : 5038905635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options—
1. % 128
2. % 32
3. % 64
4. ¥ 256

Question Number : 202 Question Id : 5038905636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a society, pattern of age of population is directly responsible for the kind of population growth, because-
Options :

1. #® Younger females have more offspring than do older females

2. ¥ Different age group have different reproductive capabilities

3. # The more the people are educated, the less do they want to reproduce

4. ® The habits of the newer society leads to less reproductive ability

Question Number : 202 Question Id : 5038905636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I H, ST Bt 311G BT Tei S9e gfg & TbR & forg e dk 1R RidieR gidn 3, wiifes-
Options :

1. * g AIGTel &) o § BIct Ararell B G 3t gid! ¢

2. TN TG a7 F SHTHT- AT TSI+ &S Biell &

3. % o aiftres anT Riférd 8id 8, I 81 1 d JAodIG- Sl digd o

4. % U YA P TSl F TS &HdT HH Bidl §

Question Number : 203 Question Id : 5038905637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Western ghats are known as
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Options :

1. ¥ Hot-spot of biodiversity in India

2. # Hot-spot of reserved sanctuary in India
3. % Best wildlife protection India

4. ® Best reserved national park in India

Question Number : 203 Question Id : 5038905637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afget rel I & U H SHE A 8|
Options :

1. ¢ YRd ¥ oia fafaedr &1 gie-wie

2. % YRA H RIEH JHIRTY BT glc-Wie

3. % G FIoig TREOT YR

4. % YRA H ¥I9Y RIE AP I

Question Number : 204 Question Id : 5038905638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jim Corbett was developed as

Options :

1. ¥ First National Park of India

2. ® First Wildlife Sanctuary of India

3. % First Protected Bird Reserve

4. ® First Protected Forest for Endangered Species

Question Number : 204 Question Id : 5038905638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S wide ol foeges wu  faswsfia fear mar um

Options :
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1. ¢ HRd 1 Ugell AP I

3. % UEd TRI el o
4. % YR yelfaal o g ugen IRiga o=

Question Number : 205 Question Id : 5038905639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rare and Endangered Species are given under which of the following?
Options :

1. # Black Data Book

2. ¥ Red Data Book

3. % Blue Data Book

4. % Green Data Book

Question Number : 205 Question Id : 5038905639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy R Jeaurd yiierl o e & 9 forad dgd fear T g2
Options :

1. % &P ST gD

2. ¥ I8 SATH

3. % ST gD
4. % WIS IH

Question Number : 206 Question Id : 5038905640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following describes the littoral zone?

1. The zone at the edge of a lake or ocean which is alternatively exposed to air and immersed in water
2. The zone at the middle of a lake or ocean which is alternatively exposed to air and immersed in water
3. The zone at the both the ends of a lake which is alternatively exposed to air and immersed in water


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Options :
L% Only |

2. % Only 2
3. % Only 3
4. % Neither 1 nor 2 nor 3

Question Number : 206 Question Id : 5038905640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad & § &1 I &9 &1 0 Rl 82

1. T e O HETITR & 1R &1 & Sff dohfetids &9 4 §aT & WU | § SR U & GaTga g
2. U e 1 HENITR & o9 BT &3 Sl dobiedd U 4 §d1 & WU | ¢ 3R U1 H a1 g3 8
3. T 2id & el RRY & &% o Jebfetes w0 4 ga1 & Tudh § ¢ 3R I A g gan e
Options :

1. ¥ $ad |

2. % Had 2

3. % $Had 3

4. % qTAT 1, AE 2 ARATE 3

Question Number : 207 Question Id : 5038905641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following will represent low stability and high resilience?

Options :

1. ¥ An ecosystem which can be easily damaged but can recover after some time if damaging effect stops

2. % An ecosystem which cannot be easily damaged but can recover whatever damaged is caused after some time if damaging effect stops
3. # An ecosystem which can be easily damaged and cannot recover even after damaging effect stops

4. % An ecosystem which cannot be damaged at all

Question Number : 207 Question Id : 5038905641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ T UTRIRUFID! o S SR ¥ &R 81 Ahcll § Aich] $© T d1G 31 81 bl § TR gIHHRE® WHIT &G g1 ol §

2. % U YRR o Ford STt ¥ eifcr 781 forat o ehal 8, Qb & 0T 918 Sl JHUTH g3 § 34 31d & Udhdl § a1g
IR UHTA s 81 STl

3. % T UTRIRURIDT i3 Sl ST W & 81 Yobell & SR GIHPRS UHIA 8¢ 11 & a1 i 31b 81 81 Gabell

4. % U URTRUTIBT o ot feeper ot erfeored =t € g

Question Number : 208 Question Id : 5038905642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organs is affected in jaundice?
Options :

1. ¢ Liver

2. % Heart

3. ® Kidney

4. ® Lungs

Question Number : 208 Question Id : 5038905642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tiferan & fAfaRad § & SIF 91 3 gHIfad BidT 62

Options :
1. ¥ apd
2. % gad
3. % Taf
4. % Thhg

Question Number : 209 Question Id : 5038905643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The individual mono saccharides are linkg¢d by a to form a polysaccharide.
Options :

1. ¥ Glycosidic bond

2. # Peptide bond

3. % Ester bond

4. #% Phosphodiester bond

Question Number : 209 Question Id : 5038905643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SET- 3T U AR Ueh IS B §, Sl Uh gz s (UieianRIes) §-1d 5|
Options :

1. ¢ TS DTSS! §¢H (Glycosidic bond)

2. % UPTES §4 (Peptide bond)

3. % TR dYT (Ester bond)

4. % HIOHISITRR §eq (Phosphodiester bond)

Question Number : 210 Question Id : 5038905644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many chambers are present in Crocodile's heart?
Options :

1. %2

2. %3

3.¥ 4

4. %5

Question Number : 210 Question Id : 5038905644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTRAS & ged H fha el 8l 82
Options :
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1. %2

A&

3.¥ 4
4. %5

Question Number : 211 Question Id : 5038905645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which valve is present in the junction of right artery and ventricle in a human heart?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Mitral valve

2. Bicuspid valve

3. Tricuspid valve

4. Seminular valve

Question Number : 211 Question Id : 5038905645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M4 ged H It et 3iR Ferg & SiaRr & o1 1 dled Hi[E 8idl 82
Note: For this question, discrepancy 1s found 1n question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. e HUIC

2. fgaat Bure

3. TI¥PHYUS (FddHh) wure

4. AR HUTC
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Question Number : 212 Question Id : 5p38905646 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the excretory organ of cockroach?
Options :

1. # Nephridia

2. ¥ Malpighian tubules

3. # Kidney

4. ® Flame cell

Question Number : 212 Question Id : 5038905646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faerae &1 Il 317 &-

Options :

1. # gdhd (Nephridia)

2. « BUt AfereTy (Malpighian tubules)
3. % &l (Kidney)

4. % SITAT BIRABT (Flame cell)

Question Number : 213 Question Id : 5038905647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Henle's loop is present in the of human.
Options :

1. # Lungs

2. ¥ Kidney

3. # Nephridia

4. ® Blood

Question Number : 213 Question Id : 5038905647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Bl UTS] Il & o IufRUCIR |

Options :

1. % Bhhg

2. ¢ Tal

3. ® gddhd (Nephridia)
4. % Iad

Question Number : 214 Question Id : 5038905648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nephron is the structural and functional unit of
Options :

1. # Lungs

2. ¥ Kidney

3. % Pancreas

4. ® Brain

Question Number : 214 Question Id : 5038905648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIIE] & IRANHD 3R HRATHD IHTS 5
Options :

1. % Ththg

2. ¥ Tl

3. ¥ WRMY

4. % ARTSH

Question Number : 215 Question Id : 5038905649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which process is used to remove urea from the blood?
Options :

1. # Excretion
2. # Digestion
3. ¥ Hemodialysis
4. % Sweating

Question Number : 215 Question Id : 5038905649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yad O giar & ge & forg for ufsrar o1 ot fasar S g2
Options :

1. % Halo

2. % U

3. ¥ gHISHIIRE

4. % G

Question Number : 216 Question Id : 5038905650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frontal part of skull is made up of bones.
Options :

1.¥ 14

2. %23

3. % 24

4. % 32

Question Number : 216 Question Id : 5038905650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WISt BT 3T HIT R BT I BT B |

Options :
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Question Number : 217 Question Id : 5038905651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The joint between humerus and pectoral girdle is
Options :

1. #® Hinge joint

2. % Ball and socket joint

3. # Pivot joint

4. % Saddle joint

Question Number : 217 Question Id : 5038905651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTIRY 3R 31 Fgen & o1 d &b Iy bl Hed ol
Options :

1. % ool HiY (Hinge joint)

2. Hgd Wi ¥ (Ball and socket joint)

3. % ¢RI (Pivot joint)

4. % JSI WIS (Saddle joint)

Question Number : 218 Question Id : 5038905652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of vertebrates are without any amnion; they are called anamniota. Which of the following belongs to this group?
Options :

1. ® Fish
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2. % Reptiles
3 % Fishes and qmphihinnq

4. % Amphibians and Reptiles

Question Number : 218 Question Id : 5038905652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRABHAT B TP TG ¢ 7 I (amnion) IURT 7Y §; 3T THg 1 TA3NeT HgT ol 3 | Faffad & & o9 1 590 T0g § 31T 32
Options :

1. ® ASat

2. % WY

3. ¥ THSferdl SR IR

4. % JUTR R TGU

Question Number : 219 Question Id : 5038905653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Retrogressive metamorphosis is commonly seen in

Note: For this question, dlscrepancy is found in question/answer. So,this

question 1s 1ignored for all candidates.
Options :

1. Frog

2. E.coli

3. Ascidia

4. Snake

Question Number : 219 Question Id : 5038905653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GfTH HTATIAC (Retrogressive metamorphosis) 3THAR TR T 3| ST g |
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Note: For this questipn, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Hedh |

2.3 Pl

3. oRifea &

4.9 H

Question Number : 220 Question Id : 5038905654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the first visceral arch?

Options :

1. # Hyoid arch

2. ¥ Mandibular arch

3. #® Branchial arch

4. % Aortic arch

Question Number : 220 Question Id : 5038905654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI UYH T MY (visceral arch) 82

Options :

1. % ISP MY (Hyoid arch)
2.¥ 3 ?ngﬂ 1Y (Mandibular arch)
3. % fiT 91U (Branchial arch)

4. % HIYH d1Y (Aortic arch)
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Question Number : 221 Question Id : 5038905655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of jaw attachment is found in mammals?
Options :

1. # Hyostylic condition

2. ® Autostylic condition
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3. # Holostylic condition

4% Craniostvlic condition

Question Number : 221 Question Id : 5038905655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRl # g UBhR BT TaST YTUP (jaw attachment) TTIT SITAT 82
Options :

1. % HisPpl-Mafad RUfT (Hyostylic condition)

2. % Widfad fRUfT (Autostylic condition)

3. % m fufa (Holostylic condition)

4. ¢ pI-AReRide fRufd (Craniostylic condition)

Question Number : 222 Question Id : 5038905656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The lateral ventricles remain in communication with the third ventricle by a small opening called
Options :

1. ¥ Foramen of Monro

2. % Foramen of panizza

3. % Fossa ovalis

4. % Basal ganglia

Question Number : 222 Question Id : 5038905656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty e U B Y AfereT gRT AR e & 91y YeR A ¥Ed B
Options :

1. ¢ BREA 3% JFRT
2. % BRMAA 3% ufoen
3. % 3fSIHR WId (BT iafer)
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4. % 9Ud AMHD

Question Number : 223 Question Id : 5038905657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The thyroid glands produces a hormone called
Options :

1. % TSH

2. % ADH

3.¥ T4

4. % FSH

Question Number : 223 Question Id : 5038905657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR (USRS S ifd) T GIHH HT IdTad Bl 5|
Options :

1. ¥ TSH

2. % ADH

3.¥ T4

4. % FSH

Question Number : 224 Question Id : 5038905658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of kidney is found in Frog?
Options :

1. ® Pronephric type

2. ¥ Mesonephric type

3. # Metanephric type

4. ® Primitive type
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Question Number : 224 Question Id : 5038905658 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hed © [y UHR &1 gadh Ui oIl 87
Options :

1. % gHfhd UHR
2. ¢ B S UHR
3. % ACHh® UHR
4. % 3TfGH YHR

Question Number : 225 Question Id : 5038905659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of Ambystoma, the phenomenon of attainment of sexual maturity in larval phase is called
Options :

1. ® Juvenile phase

2. # Reproductive phase

3. ¥ Neoteny

4. ¥ Maturity

Question Number : 225 Question Id : 5038905659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ufse T #, f$yes (@) TRur d 99 RUSAT T A P OeTdl  FHel ol o
Options :

1. % fHRIR TRUT (Juvenile phase)

2. % UG- TRUT (Reproductive phase)

3. ¢ FRRFEYAT (Neoteny)

4. % URUSAT (Maturity)

Question Number : 226 Question Id : 5038905660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jacobson's organ is useful in the process of communicating chemical messages in which organism?

GET IT ON
Google Play

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
1. Snake
2. Cat

3. Rat

4. Monkey

Question Number : 226 Question Id : 5038905660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I Sitg H TS Rl T IO B BT Ulthar & Sibed 3T IUTNT 82

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
1.9
2. forexit

3. ggl
4. 9

Question Number : 227 Question Id : 5038905661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is considered a living fossil?

Options :
1. ¥ Tuatara
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2. % Turtle
3% Rhinocerous

4. ® Tiger

Question Number : 227 Question Id : 5038905661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafifed # ¥ &9 T Shfad Sitared |1 ST 62
Options :

1. ¥ C3ICRT (Tuatara)

2. % PH (Turtle)

3. % 3ig]

4, % dY

Question Number : 228 Question Id : 5038905662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
__is known as golden era of reptile.
Options :

1. #® Phanerozoic era

2. % Cenozoic era

3. ¥ Mesozoic era

4. ® Paleozoic era

Question Number : 228 Question Id : 5038905662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

D! TG BT W01 T HeT T 7 |

Options :
1. % FEIaRard!
2. % I SIagT
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3. ¢ AYGiidl Hglhed
4% Gl Helh

Question Number : 229 Question Id : 5038905663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The covering of brain is known as
Options :

1. # Suture

2. % Pleura

3. ¥ Meninges

4. % CSF

Question Number : 229 Question Id : 5038905663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARKTSH & 3MTaR0T i & =0 H S 91l 3 |
Options :

1. % QUS HIAS

2. % T

3. « aifeeT (FRfAwshen

4. % TP,

Question Number : 230 Question Id : 5038905664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Outer subdermal fat layer of aquatic mammal is known as:
Options :

1. % Skin

2. % Fat bodies

3. ¥ Blubber
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4. ® Epidermis

Question Number : 230 Question Id : 5038905664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR &1 S18) ST 991 IRd dedldl g
Options :

1. % ogdl

2. % HI¢ TRR

3. ¢ faffaan (&)

4. % qglad (Uushi)

Question Number : 231 Question Id : 5038905665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not a part of lymphatic system?
Options :

1. ® Tonsil

2. % Adenoids

3. # Spleen

4. % Stomach

Question Number : 231 Question Id : 5038905665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B THIDT o BT fowl ol 62
Options :

1. % TAGUSHI (Tonsil)

2. % HSYA (Adenoids)

3. % TIgT (Spleen)

4. ¥ UT
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Question Number : 232 Question Id : SD38905666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All single celled eukaryotes are placed under
Options :

1. ¥ Monera

2. ¥ Protista

3. # Animalia

4. % Bacteria

Question Number : 232 Question Id : 5038905666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt T dt BB a1 TS Eet @HRAeT) P 3fdid Q@ o 8
Options :

1. % HIRT

2. ¢ e

3. % THHAEY

4. % Siqry]

Question Number : 233 Question Id : 5038905667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is responsible for causing “Red Tides™?
Options :

1. ¥ Gonyaulax

2. % Euglena

3. % Slime moulds

4. ® Chrysophytes

Question Number : 233 Question Id : 5038905667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o e SaR" Uel #34 & fag SHeR 82
Options :

1. ¢ My (Gonyaulax)

2. % Z‘[’a:IT(Euglena)
3. % T2 MG (Slime moulds)

4. ® mm (Chrysophytes)

Question Number : 234 Question Id : 5038905668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If S = Species richness, A = Area, Z = slope of the line (regression coefficient), C = Y-intercept, then on a logarithmic scale, the species-area
relationship is a straight line described by the equation —

Options :

1. % logS=1log C/Zlog A
2. % logS=1logC-Zlog A
3. % logC=1logS-Zlog A
4. ¥ logS=1logC+ZlogA

Question Number : 234 Question Id : 5038905668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O8I TR S = ST THf, A = 8, 2 =XG 319, C = Y - 3 TS (SeWP) B, Tl AU YA TR Ofci 1 & &y T Areft 3am a=iall g S
for o iR gRI UG RA © -

Options :

1. % logS=1log C/Zlog A

2. % logS=1logC-Zlog A

3. % logC=1logS-Zlog A

4. ¥ logS=1logC+Zlog A

Question Number : 235 Question Id : 5038905669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Bipolar neurons are found in
Options :

1. ¥ Retina of eye

2. # Cerebral cortex

3. ¥ Embryonic stage

4. % Heart

Question Number : 235 Question Id : 5038905669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faedta de IR U ST g |
Options :

1. ¥ ey gea d

2. ¥ TS degpe H

3. % YuraRT Y

4. % geg |

Question Number : 236 Question Id : 5038905670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kranz anatomy is found in plant.
Options :

1. % C,

2. % Cy

3.4 ¢,y

4. % CAM

Question Number : 236 Question Id : 5038905670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
FAGRGIEES] e & U STl 2 |

Options :
1. % C,

2. % Cy
3.¥ Cy

4. % CAM

Question Number : 237 Question Id : 5038905671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Fungi is commonly known as Imperfect Fungi?
Options :

1. # Phycomycetes

2. % Ascomycetes

3. # Basidiomycetes

4. ¥ Deuteromycetes

Question Number : 237 Question Id : 5038905671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o Had &I g0l Had o HEd 62
Options :

o O

1. ® HIZHHSRICIS (Phycomycetes)
2. % UXHIHTSRICIST (Ascomycetes)

3. # JRIFSAHRRIA (Basidiomycetes)
4. ¢ SY[RIATSRIET (Deuteromycetes)

Question Number : 238 Question Id : 5038905672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which type of Chlorophyll is present in Rhodophyceae ?
Options :

1. # Chlorophyll a,b
2. # Chlorophyll a,c
3. % Chlorophyll a,d
4. % Chlorophyll c,d

Question Number : 238 Question Id : 5038905672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ASIEH # 58 UBR o1 FiRItbel Hivle 8idT 82
Options :

1. % ?ﬁ‘hﬁﬁrﬂa,b

2. % FARIMG A ac

3. ¢ FARIbd a,d

4. % FARIBA c.d

Question Number : 239 Question Id : 5038905673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Coelom originates from which germinal layer?
Options :

1. % Ectoderm

2. % Endoderm

3. ¥ Mesoderm

4. ® Vacuoles

Question Number : 239 Question Id : 5038905673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIeT fore yofta TR # I giaT 82

Options :
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Question Number : 240 Question Id : 5038905674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which organism doesn’t have Coelom?
Options :

1. ® Nereis

2. % Pheretima

3. # Hirudinaria

4. ¢ Platyhelminthes

Question Number : 240 Question Id : 5038905674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

for St & TReT (@ IaH) T8t gidl 82
Options :

1. % ARy

2. % feH

3. % gRes MRl

4. ¥ QRS
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Question Number : 241 Question Id : 5038905675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which organ is known as graveyard of RBC?
Options :

1. # Blood

2. ¥ Spleen

3. # Tonsil

4. ® Stomach

Question Number : 241 Question Id : 5038905675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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TeT Yokl TOTDT3N & DS &b U H T ST b ST il 82

Options—
1. #® Yad
2. ¥ iIgT

3. % TAJUeHI (Cl-ua)
4. % Ue

Question Number : 242 Question Id : 5038905676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Blood is a fluid tissue.
Options :

1. ¥ Muscle

2. ¥ Connective

3. % Epithelial

4. % Nervous

Question Number : 242 Question Id : 5038905676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3FI TH &d SdP g
Options :

1. % Uzft (@igush)

2.« YISl

3. % 3Uhdl

4. % di¥ep

Question Number : 243 Question Id : 5038905677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Human heart consists of which tissue?
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Options :
1._* Epithelial

2. ® Connective, Epithelial
3. % Muscular, Connective

4. ¥ Neural, muscular, Connective, Epithelial

Question Number : 243 Question Id : 5038905677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qd gy {59 Sae Q 941 81dT 82
Options :

1. % JUDh

2. % HYISll, SuB

3. % O} (@qush, Sarh

4. ¢ 5T, URM (@GR, gl Iuemdn

Question Number : 244 Question Id : 5038905678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s the first body segment of earthworm.
Options :

1. #® Peritoneum

2. % Prostomium

3. ¥ Peristomium

4. ® Epithelium

Question Number : 244 Question Id : 5038905678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o qU &1 UG IR TS gl

Options :
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1. % URSIHTH (Peritoneum)

3. ¢ OR{S (Peristomium)
4. % 3Uh I (Epithelium )

Question Number : 245 Question Id : 5038905679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Earthworm bears a dark band of glandular tissue called Clitellum, it is present in
Options :

1. #® 12-13 segment

2. % 13-14 segment

3. ¥ 14-16 segment

4. ® 13- 15 segment

Question Number : 245 Question Id : 5038905679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U (3rfar) 7 1d Sas arel e B qaified (clitellum) P8 8, T8 dgasl
Options :

1. % 12-139S

2. % 13-14 WS

3.9 14-16 TS

4. % 13-159s

Question Number : 246 Question Id : 5038905680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The respiratory organ/organs of adult Frog is/are

Options :
1. ® Gill
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2. % Trachea
3 # Book gi]]

4. ¥ Lungs and skin

Question Number : 246 Question Id : 5038905680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HEh DI/ YT 3T Bl e/8ld g |
Options :

1. % FAH

2. % 41 it

3. % QRA-&|

4. ¢ BHS 3R a1

Question Number : 247 Question Id : 5038905681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cells function as nurse cells for the sperm?
Options :

1. # Leydig cell

2. % Scrotum

3. ¥ Sertoli cell

4. % Acrosome

Question Number : 247 Question Id : 5038905681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ o1 F SifkieT Yo & e 7 Skt & w0 H orf Hdl 82
Options :

1. % ST BB (Leydig cell)

2. % guU[ PIY (Scrotum)
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3. ¢ Teldl HIRIBTY (Sertoli cell)
| 4 % ufOUSH (Acrosome) |

Question Number : 248 Question Id : 5038905682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Testosterone is a . hormone.
Options :

1. ¥ Steroid hormone

2. % Peptide hormone

3. # Thyroid hormone

4. # Pregnancy hormone

Question Number : 248 Question Id : 5038905682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRR A

Options :

1. ¥ RIS g

2. % UPTES gIHH

3. % YRRISS g

4. % TTHGRYT BTAM

Question Number : 249 Question Id : 5038905683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
__is known as birth hormone.
Options :

1. % Prolactin

2. ¥ Oxytocin

3. % FSH
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4. % LH

Question Number : 249 Question Id : 5038905683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B HEHA S g TS g
Options :

1. % Yaifdes

2. ¢ SfIICIRH

3. % THU{Y

4. % qoE

Question Number : 250 Question Id : 5038905684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of placenta is found in cats and dogs?
Options :

1. # Diffuse placenta

2. ¥ Zonary placenta

3. % Discoidal placenta

4. # Meta Discoidal placenta

Question Number : 250 Question Id : 5038905684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeeral Sfik il H fohd ThR BT SURT (W) UTT ST 82
Options :

1. % faaia Sr_T ((SwRret widen)

2. ¢ T R (AR WITHeT)

3. % gHIY IR ((SWhissd WRie)

4. % Y IHTH R (AT fSwpigsd wRien)
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Question Number : 251 Question Id : SD38905685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which hormone is used in pregnancy test?
Options :

1. ¥ FSH

2. ¥ HCG

3. % PRL

4. ¥ ADH

Question Number : 251 Question Id : 5038905685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTGRIT TRYEf0T H {5 GTHI &1 YT fasan ST g7
Options :

1. % UhU{UT (FSH)

2.« TSI (HCG)

3. % UI3{RUA (PRL)

4. % TSIUH (ADH)

Question Number : 252 Question Id : 5038905686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the most common and abundant biological product on earth?
Options :

1. ¢ Cellulose

2. % Pepsin

3. # Amino acid

4. ® Glycerol

Question Number : 252 Question Id : 5038905686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g R G 31TH 3R YR TE1 H Sifde IdTe 9 I1 82
Options :

1. ¢ qJarS

2. % OfRE

3. % QU 3

4, % fRRRIA

Question Number : 253 Question Id : 5038905687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Exoskeleton of arthropods is made up of
Options :

1. #® Protein

2. ¥ Chitin

3. # Muscle

4. ® Skeleton

Question Number : 253 Question Id : 5038905687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s FaRbea . ISl
Options :

1. % Ui

2. ¢ B (Chitin)

3. % O (@guehh

4. % Hpld

Question Number : 254 Question Id : 5038905688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Which plant pigment is present in tomatogs?

Options :

1. # Carotene

2. % Xanthophylls
3. ¥ Lycopene

4. ® Phycobilins

Question Number : 254 Question Id : 5038905688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TATER § DI AT UryT JUich UTal ITelT 32
Options :

1. % HRICH (Carotene)

2. % S (Xanthophylls)

3. ¢ TATZHIUA (Lycopene)

4. % HIZHIAAH (Phycobilins)

Question Number : 255 Question Id : 5038905689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The are the compound lipids and they form the pigments of the animal and plant cells.
Options :

1. ¥ Carotenoids

2. % Chlorophyll

3. % Xanthophylls

4. ® Anthocyanine

Question Number : 255 Question Id : 5038905689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fRifie § 3R 3 TeRT 3R el B b IfR1epr3il & qufes o1 fAmfor eed g
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Options :
1 Z e o

4+ P2 PAAY
- STONTIS T TTNT \\/QLULUILUIUD/

2. % YUigd (Chlorophyll)
3. % SRQfwd (Xanthophylls)
4. % YN (Anthocyanine)

Question Number : 256 Question Id : 5038905690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tail part of Chlorophyll molecule is made up of
Options :

1. ¥ Phytol

2. # Porphyria

3. % 10 carbon bond

4. % Hydrogen

Question Number : 256 Question Id : 5038905690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FORIMpT AU HFTUS R J &gl
Options :

1. ¥ BIsed

2. % GRWGISRAT

3. % 10 Do Y

4, ® Elggl\_rl:l

Question Number : 257 Question Id : 5038905691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chemical name of Vitamin E is
Options :
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1. # Calciferol
2 & an‘nphprn]

3. ¥ Riboflavin
4. ® Thiamine

Question Number : 257 Question Id : 5038905691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EEIEEEEARISIBIECE i &l
Options :

1. % W(Calciferol)

2. ¢ TIDHIWRIA (Tocopherol)

3. # IJZAGITA (Riboflavin)

4. % YU (Thiamine)

Question Number : 258 Question Id : 5038905692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as traffic police of the cell?
Options :

1. ¥ Golgi body

2. % Lysosome

3. ¥ Endoplasmic Reticulum

4. # Nucleus

Question Number : 258 Question Id : 5038905692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # J f6d SRt & ¢thes e & =0 ST STl 82
Options :

1. ¢ Ticollh
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n——

3. % gl ST (TSI JcPHa)
4. % PIRDBI B (Vd i)

Question Number : 259 Question Id : 5038905693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following characters is a dominant character?
Options :

1. ¢ Rolling tongue

2. ® Fingers with no hair

3. % Attached ear lobes

4. ® Folding tongue

Question Number : 259 Question Id : 5038905693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafead o | 1T 701 U TTd 0T 82
Options :

1. ¥ @bl BilH

2. % T STl aredt Sifergi

3. % GAU B dlg

4. % qESIY

Question Number : 260 Question Id : 5038905694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the phenotypic ratio of incomplete dominance?
Options :

1. ¥ 1:2:1
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2. % 1/5:1/8:1/5
3_# Q221

4. ¥ 4:2:1
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Question Number : 260 Question Id : 5038905694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiRaa & § srguf gy &1 Blerzfie 3urd &F 9182

Options :

1. ¥ 1:2:1

2. % 1/5:1/8:1/5
3. % 8:2:2:1

4. % 4:2:1

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
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50389076
0

0
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503890184
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Number of Questions : 20
Number of ancﬁnne to be nffpmptpd . 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890222
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 5038905695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A genetic disease due to the XXY karyotype is called-
Options :

1. ® Equus caballlus

2. ¥ Klinefelter’s syndrome

3. # Cry du chat syndrome

4. ¥ Marasmus

Question Number : 261 Question Id : 5038905695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XXY B5eh YRS (PTICTT) &b HRUI G dlelt SMTafe far e 8-

Options :

1. % 3HY oAy

2. ¢ FgAbheck RigH
3. % rg g de RighH
4. % TRV

Question Number : 262 Question Id : 5038905696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The position or place on a chromosome occupied by particular gene or one of its alleles is
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Options :

1. * Tocation

2. % Position
3. % Locus

4. % Centromere

Question Number : 262 Question Id : 5038905696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forat fIRIe ST a1 I TrHIh et & GRT UG TR 3ifAaTRId I &I Hd o-
Options :

1. % SIHE (M)

2. % UiforRA (Rfa)

3. ¢ Ay (famguy)

4. % YIAWR (TUREASG)

Question Number : 263 Question Id : 5038905697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a x linked disorder?
Options :

1. ¥ Hemophilia

2. % Colour blindness

3. ¥ Thalassemia

4. ® Fragile X syndrome

Question Number : 263 Question Id : 5038905697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRed & I ®1F 91 TR URE-Uas f[AdR 161 87

Options :
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Question Number : 264 Question Id : 5038905698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which antibody can pass from mother to foetus via the placenta?
Options :

1. ¥ 1gG

2. % JgA

3. % IgM

4. ® IgD

Question Number : 264 Question Id : 5038905698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dioieRH (wiier) & A1y ¥ & 91 ufafis (@Earsh) 1t ¥ yor § o ¥l g2
Options :

1. ¥ IgG

2. % IgA

3. % IgM

4. % 1gD

Question Number : 265 Question Id : 5038905699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the founder or father of modern Palaeontology?
Options :

1. ¥ Cuvier
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2. % Leonardo da Vinci
3 # Watson

4. # John Playfair

Question Number : 265 Question Id : 5038905699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3NYfieh SaTAfaR fcr<Iciol) & YU AT S B 6
Options :

1. ¢ PIAWR

2. % oSt @t fo=h

3. % gicy-

4, % S HIR

Question Number : 266 Question Id : 5038905700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which represents the modern horse?
Options :

1. ¥ Equus

2. % Eohippus

3. % Pliohippus

4. % Merychippus

Question Number : 266 Question Id : 5038905700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B MY °IS BT Ui BT 22
Options :

1. ¢ Uhoq

2. % IR
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3, % WRgwWy

4% Ty

Question Number : 267 Question Id : 5038905701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Archaeopteryx was the connecting link between -
Options :

1. ¥ Reptile and Bird

2. % Fish and Amphibia

3. % Amphibia and Reptile

4. ® Reptile and Mammal

Question Number : 267 Question Id : 5038905701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TN CCIERSERRER)
Options :

1. ¢ Y 3R Teft

2. % Tl 3R IHTR

3. % IHTR 3R TG

4. % TIGU 3R TR

Question Number : 268 Question Id : 5038905702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is the vestigial organ of the human?
Options :

1. # Stomach

2. % Eye

3. # Skin
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4. ¥ Coccyx

Question Number : 268 Question Id : 5038905702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofied # 9 Aa &1 sfavid} oif 19 11 82
Options :

1. % Ue

2. % 3iE

3. % oddl

4. ¢ D (DIRIH)

Question Number : 269 Question Id : 5038905703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists has proposed the Mutation Theory?
Options :

1. % De Vries

2. % Lamark

3. ¥ Darwin

4. ¥ Mendel

Question Number : 269 Question Id : 5038905703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o O fow ammfe 3 Iafkad Rigia &1 uxara fear 82
Options :

1. ¥ Star

2. % D

3. % gIfdA

4. % HSd
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Question Number : 270 Question Id : SD38905704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which pollutant is released from the refrigerator industry?
Options :

1. ® CO,

2. ¥ CFC

3. % NO,

4, ® Fe

Question Number : 270 Question Id : 5038905704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fpoReR IANT A B T U Feberdr 82
Options :

1. # CO,

2. ¥ CFC

3. ¥ NO,

4. ® Fe

Question Number : 271 Question Id : 5038905705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frequency is denoted as

Options :

1. ¢ Hertz

2. % Decibel

3. ¥ Nanometer

4. ® Sone
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Question Number : 271 Question Id : 5038905705 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gl B & ¥U H aIfar Srar |
Options :

1. ¥ B

2. % Sf¥ed

3. % AR

4. % GH

Question Number : 272 Question Id : 5038905706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Ganga Action Plan was launched in
Options :
1. % 1984
2. % 1985
3. ¥ 1986
4. % 1987

Question Number : 272 Question Id : 5038905706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BT AIeHT (T TR W) T YE @1 s ot
Options :

1. % 1984

2. % 1985

3. ¥ 1986

4. % 1987

Question Number : 273 Question Id : 5038905707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Myotome muscle is present in

Options :

1. ¥ Fish

2. % Amphibia
3. # Reptilia
4. ® Bird

Question Number : 273 Question Id : 5038905707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

snfeufods @meH) U=t (i) H g sidigl
Options :

1. ¥ U HSdl |

2. % IUTRH

3. % R

4. % geit A

Question Number : 274 Question Id : 5038905708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of rectrices present in a pigeon is:
Options :

1.¥ 12

2. % 12 pair

3. % 24

4. % 24 pair

Question Number : 274 Question Id : 5038905708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP HER B fra [0 8d 82
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Options :
1 12

2. % 2SSt
3. % 24

4. % 24 SISt

Question Number : 275 Question Id : 5038905709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mycobiont part of Lichen is

Options :

1. ® Algae

2. ¥ Fungi

3. % Bacteria

4. ® Rhizobium

Question Number : 275 Question Id : 5038905709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QAd1H (TAT3H) H HaABI-3AT 8§ -
Options :

1. % Rard

2. ¥ Hddh

3. % qadiia

4. % SolTeTH

Question Number : 276 Question Id : 5038905710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Nutrient enrichment of water causes the natural aging of the lake. This is called?
Options :
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1. ¥ Eutrophication

2 Rinmqgniﬁ{‘aﬁnn

3. # Algae Bloom
4. ® Accelerated Eutrophication

Question Number : 276 Question Id : 5038905710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ol & UINe dd Gae 3hd & Midhiad 39 S &1 HRUI ST ¢ | T8 Hel ofdl 82
Options :

1. ¢ Uy

2. % UIq f1aHH

3. % Qard Ugped
4. % @Rd garor

Question Number : 277 Question Id : 5038905711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sexual reproduction takes place through fusion of two gametes. These gametes can be flagellated and similar in size (as in Ulothrix) or non-
flagellated (non-motile) but similar in size (as in Spirogyra). Such reproduction is called -

Options :

1. ¥ Oogamous
2. ¥ Isogamous

3. # Anisogamous

4. % Gametophyte

Question Number : 277 Question Id : 5038905711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR S &) ge! & g 9 gidT & | T JHe SRS Jad (Sraiforal o) Tl A9 H T 81 Tdhd & (oI aTfIaT) 3ydT Thaifore
fIgH Qe THH 71T 910 B Ahdl & (S TTZRNTRRT) | T S & Fed g

Options :
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Question Number : 278 Question Id : 5038905712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Zygotes do not undergo reduction division immediately. They produce a multicellular body called a -
Options :

1. ¢ Sporophyte

2. % Gametophyte

3. # Antheridium

4. ® Archegonium

Question Number : 278 Question Id : 5038905712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS QR GRUT FAHTSH & TE1 ToRd €1 3 Ueb §geh TR1eh 19 TR b1 ({0 el & R e & -
Options :

1. ¥ YRGS

2. % JUHPIMNG

3. % gyt

4. % AT

Question Number : 279 Question Id : 5038905713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the phenomenon, where the living differentiated cells, that by now have lost the capacity to divide can regain the
capacity of division under certain conditions?

Options :
1. ¥ Dedifferentiation
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. ® Differentiation

2 B DAt ]
e INVUITIVIVIIUIATUUL

. ® Divisioniated

Question Number : 279 Question Id : 5038905713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o @ oH I g 8, Set Shfad fAnfed FIRe, S 3id do i 37 &1 &vd T g1 8, $© Ual & ded [AHSH DI &
DI : T R el o2
Options :

1. ¢ fAfd¥ea

Question Number : 280 Question Id : 5038905714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following helps in the swimming of spermatozoa, maintenance of water current in the canal system of sponges and in locomotion of
Protozoans like Euglena?

Options :

1. ® Skeletal muscles
2. ® Striated muscles
3. # Visceral muscles

4. ¥ Flagellar movement

Question Number : 280 Question Id : 5038905714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ ®1F YEeTueh & avA, WS Pt 8% U § U & TaTe &l 9918 384 3R AT oI UieleilaF &t 71fd § Heg HRdl 82
Options :

1. % HopTd URKIT (Skeletal muscles)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

2. % Ufws® URMIT (Striated muscles)
Q S0

A‘%‘I’TIT Va W sl 1 1 AN
O. T M7 HMIKTHAT L VISCCIAL HTTUSUICS )

4. ¢ HRHIPBT T (Flagellar movement)

Teaching Methodology
Group Number : 15
Group Id : 50389077
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 503890185
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 503890223
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 5038905715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
The primary stage extends from Class I td Class —

Options :
1. % IV
2.¥V
3. % VI
4. % VII

Question Number : 281 Question Id : 5038905715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WURG RGBT IV B dbl
Options :

1. ¥ 1V

2.¥V

3. % VI

4. % VII

Question Number : 282 Question Id : 5038905716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Computer Literacy and Studies in Schools (CLASS) project was introduced in the —
Options :

1. # early 60s

2. % early 70s

3. ¥ early 80s

4. ® early 90s

Question Number : 282 Question Id : 5038905716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H R foredl T8 €IS 39 Whosl (CLASS) URTISHT &1 YH3HTd o o T ot
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Options :
1 % 60 GRIh Dl B

2. % 70 &GP DI 3T
3. v 80 & TRID DI L3I
4. % 90 & GXD P Y[H3ATA

Question Number : 283 Question Id : 5038905717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was EDUSAT launched?
Options :

1. % 2002

2. % 2003

3.9 2004

4. % 2005

Question Number : 283 Question Id : 5038905717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS (EDUSAT) H! fordt a8l df=a fovam 1T T
Options :

1. % 2002

2. % 2003

3. ¥ 2004

4. % 2005

Question Number : 284 Question Id : 5038905718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is incorrect?
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1. Studies have shown that girls in the sarpe class get science education different from boys
2. Science textbooks and science teachers} like others, are not free from gender bias.

Options :

1. % Only I

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 284 Question Id : 5038905718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 &9 91 &Y= Tad 82

1. ! Y UaT I © fob U gt pen § Tsfral o) fagr ot fRren as! § e fied 8
2. fOIT &1 UTeuqwadh SR I & e, TRl &t avg, ol gaius 3 gad 181 5 |
Options :

1. % 5dd |

2. % Had 2

3. % M1 3R 2

4. TA13IRAE 2

Question Number : 285 Question Id : 5038905719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a function of a teacher related to class and classroom teaching?
Options :

1. ¥ Maintaining records of pupils’ attendance

2. % Planning for curricular and co-curricular activities

3. % Evaluating the achievement of pupils

4. ¥ Always scold the students to maintain strict discipline

Question Number : 285 Question Id : 5038905719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

fProfied & § o9 s ik wel Rieor I J6iid e &1 o T8 82

Options :

1. % foeniial & Iufufa &1 Rebie @1

2. % UTET9d! 3R Yg-UTagH Tafafer &t a1 a7
3. % faenfdal ot Iuafss &1 geaid

4. ¢ Tx IR §1E TG & [T gURM ST bl Sic

Question Number : 286 Question Id : 5038905720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which method is the whole class divided into different homogeneous small sections on the basis of abilities so that teacher can remove their
difficulties by giving them individual guidance?

1. Demonstration method
2. Tutorial method

Options :

1. % Only 1

2. ¥ Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 286 Question Id : 5038905720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fory fafty & 2t e 1 IFaar & YR TR S-S Tolld g BIc vt § faHIiord faeam Sirar g arfds Riefes aafaara Anfa o 39!
HISATZIl Pl G PR Yob?

1. yexiA fafy

2. HcIRgd fafd

Options :

1. % oad |

2. ¥ a2
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3% gl 1 3R 2
4 %I awado

Question Number : 287 Question Id : 5038905721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is known as the exponent of the Question-answer method of teaching?
Options :

1. % Galileo

2. ¥ Socrates

3. % Newton

4. ¥ Dewey

Question Number : 287 Question Id : 5038905721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

78101 1 UH-ITR Ufd o UfduTad & =0 § fosdl ST STl 62
Options :

1. % Tchfern

2. ¢ Jdd

3. % oA

4, % gdt

Question Number : 288 Question Id : 5038905722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class, all the students are given a problem. All the students work on the problem individually in order to solve it. They bring their solutions
in written form. They present their views in the class one by one and the other students listen to these attentively to criticize them later on.

Which of the following methods of teaching has been described?
Options :
1. # Drill method
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2. ¥ Seminar

3 % Rrain anrming

4. ® This is not a teaching method

Question Number : 288 Question Id : 5038905722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U e |, 9H T B T AT < Oiidlt 8 | H S5 THT B 8 B P o7t AT 20 F I W BTH Hd o | I 30U JHIYH
forfad 0 o a1 81 3 el H Th-Uh HRab 30 faaR URdd HRd & iR GOk faenff 3= &1 O a § iR a1e # 39ab! STalia dvd g

frafofea o 3 fora Rremor ugfa &1 qufF fasa mar ge
Options :

1. % fga fafg

2. ¢ YAR

3. % g WIHT

4. * g Us R ugfa 76 8

Question Number : 289 Question Id : 5038905723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A biology-teacher can give which of the following types of home-works?

1. Informational
2. Problematic

Options :

1. # Only 1

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 289 Question Id : 5038905723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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TS g faqm-Riere FafaRad & 9 | TeR & [eH[ ¢ 9&Hdl 82

2. IR
Options :

1. % 5dd |

2. % Had 2

3. gHl 1 3R 2

4. % A1 3RAE 2

Question Number : 290 Question Id : 5038905724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kilpatric is the investigator of which teaching-strategy?
Options :

1. ¥ Project method

2. % Discovery method

3. % Heuristic method

4. ® Role playing method

Question Number : 290 Question Id : 5038905724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fererdfee fbg RIEUIRUMIA & Sraue g2
Options :

1. ¢ GRET fafd

2. % @io fafy

3. % M fafY

4, % yftyent fym fafy

Question Number : 291 Question Id : 5038905725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
A biology-teacher wants to give home-wdrk to her students. Which of the following thoughts should ghe not entertain while giving the home-

work?

Options :

1. # Home-work should be such that it increases the rate of learning further

2. # Home work should be somewhat challenging to the students also

3. ¥ Home work should be time-consuming, so that the students don’t get any free-time at home

4. % Home works given to students should be based on their class work

Question Number : 291 Question Id : 5038905725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Sita fagm-Riféret srm faenfiat &) Te-ord <1 e 81 Teord & 99y 39 Fufifed & @ oy foar W e =81 31 =nfewe
Options :

1. % TEHI U1 g1 A1 o ¥RaA &1 &R 3iR ¢ WY

2. % B & fag W e rd $ gAYl g At

3. ¢ TE BT H TS JHY T AR, difch ST &I 8R TR Jelt 997d = il

4. % FHE P! AU T aTdl T8 B I Hafl B b YR TR g4 dAlgy

Question Number : 292 Question Id : 5038905726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods establishes a student’s mastery level?
Options :

1. ® Gloom’s mastery learning strategy

2. % Albert’s mastery learning strategy

3. % Bloom’s mastery learning strategy

4. ® Garrett’s mastery learning strategy

Question Number : 292 Question Id : 5038905726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TAH D HeRd Aa- P 0T
2. % 3[cFC DI HERd YR & UM
3. ¢ &0 DI HeRd URaA 1 U
4. % TT P YeRd YRa P IS

Question Number : 293 Question Id : 5038905727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage, science should be introduced as separate disciplines with emphasis on experiments/technology and problem solving?
Options :

1. ¥ Higher secondary stage

2. ® Secondary stage

3. % Upper primary stage

4. ® Primary stage

Question Number : 293 Question Id : 5038905727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore aRor & faq &1 T/ fes! 3R THeT FHIM TR SR Gd gU SfeHT-3faT fawdl & w0 § =1 foar S =nfge?
Options :

1. ¢ IR H1eaHe TR0l

2. % WIS TROT

3. % 3 UIYH =R0T

4. % YrYfHes TRl

Question Number : 294 Question Id : 5038905728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should be done to remove gender-disparity in science education?
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1. The curriculum should strive to make the contribution of women to the field of science and technolpgy “visible’.
2. Studies should be undertaken to undergtand how gender bias operates in schools both within and outside the classrooms

Options :

1. % Only I

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 294 Question Id : 5038905728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagm fRren & ciffes SRHTaT 1 gR R & forw Fam s anfewe

1. UT3g%H B! fag iR Uit & & # afgdrefl & arTeM &l g §91 &1 U BT 8T

2. T8 T & o s1eqa fopan ST a1fe for wefmafl & ofiaR SR aTeR gl &1, Xha | foifT qafue &Y Satferd gidT 8
Options :

1. % 5dd |

2. % Had 2

3. Gl 1 3R 2

4. % A1 3RAE 2

Question Number : 295 Question Id : 5038905729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should not be a personality trait of a teacher?

Options :

1. # A teacher has to be very active in and outside the class in the school which requires sound physical health
2. % A teacher should not be hasty in his habits

3. % A teacher should be amiable and friendly in his behaviour

4. ¥ A teacher should not take risk of experimenting with his teaching strategy

Question Number : 295 Question Id : 5038905729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Question Number : 296 Question Id : 5038905730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Many Indian students perform very well in formal / scholastic tests, but relatively few make it to the grade of truly outstanding researchers or
original thinkers. What can be the reason for this?

Options :

1. ¢ Science education in India at its best develops competence, but does not encourage inventiveness and creativity

2. % Science education in India at its best develops creativity, but does not encourage competence and inventiveness

3. # Science education in India at its best develops inventiveness, but does not encourage inventiveness and competence

4. ® Science education in India does not develop competence or inventiveness or creativity

Question Number : 296 Question Id : 5038905730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Who is considered as the Father of Micrabiology?

Options :

1. ¥ Antonie van Leeuwenhoek
2. % Robert Hooke

3. # Robert Brown

4. % Theodor Schwann

Question Number : 297 Question Id : 5038905731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 298 Question Id : 5038905732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Using non-formal channels in our education system and specially in science will increase —
Options :

1. # Indiscipline

2. ¥ Creative learning

3. # Concentration among students

4. ® Unattentiveness among students

Question Number : 298 Question Id : 5038905732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 299 Question Id : 5038905733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. ® Training is only a specialized part of teaching

2. #® Anidealist society gives importance to teaching while a pragmatic society gives importance to training
3. # Skill is developed through teaching while knowledge is imparted through training

4. ® The word training refers to moulding of habits

Question Number : 299 Question Id : 5038905733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & § o 91 HyF Tad 82

Options :

1. % UfRreror hae fR1eor o1 e IR fewar e

2. % T fTexfarc) FHTol fRI&M01 BT A Sl & e U eIk FHIS UTI&U ! Heged Sl 2
3. « T80T q IR BT fahT gldT & Siafcs TR T J1H &7 Ay gidl ¢

4. % YfReI0T Teq; b7 31 § 3l BT ST

Question Number : 300 Question Id : 5038905734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Formal
2. Informal

Options :

1. % Only I

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2
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Question Number : 300 Question Id : 5038905734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
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Options :

1. % $ad |

2. % Had 2

3. Gl 1 3R 2

4. % A1 3RAE 2
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